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N Q7T

aNn " Tnh

R N7 D112 KDY 2%32 9o a7 "o NN AT 772 o [R Ty e 7]
TNN2R DYon RTM ANT MR NI V127 190 RPRT PP 2o "o
ROR 37299 2"'229D0 9ANK X773 23R IRDT R7INOND 799 DOR 72P9TD 1NN
W NN N2 KDY 29T NN V12T RWITT 09 NN FIDINT IR0 90T
ROR RP1T A0SR RWITT IR K2 X232 K77 39 INNRT RDI7 907 2
SNRIA 2 H''PY N2 KDY PPTY RO 2NRT MINT RDIDR R NN RDIWON
DYWL 'O NBWNP PN 2R swTne
1) mwn-—partl
a) Xy on "o°1a7 nR axa"
("2 1°7) 2Py Do 12IRTT 192 (R 1°T7) 1IN P 2Py — 00127 1 I AR
T°7) 2P 1 M 72IRTT 19N (B 1°7) J2IRT? DM 2pYe — 0°127 DX 211D 2RA
(1
b) x5°0 on "ax7 X 0°3127"
T°7) 12177 2213 2pYe7 192 (7 1T) 2p3° 11 M 1R — AR 1 PO 00137
("
T°7) J2IRT 12 2 2pYeT 192 (2 1°7) 2Py 2N 1R ARY PYMIn 00130
(X
c) Note that all o°1>7 of the &5°0 are already said in the xwn
2) mwn—Part 2
a) Rw'aon "mnk 12"

23131 T2INIT 1IN ('R PT) 2K IR TR 1A PPOMI 107 212 — PO NINR 212
(2 77) "7 0120

5MI 121X 1PRT 19182 ('3 °T) J2IRT? PRI KD 7107 212 1N KD NN °1
("7 77) AT 1A

b) xo9°0 on "oX nx"

7791 71307 °127 19182 ("2 7°7) 7307 2327 2PN 12— NINR °137 P2 ORT ONR
('R 1°7) DR MR 12X 0

1D (7 PT) 7107 2121 DM R? ORK MR J2IRT — NINK 127 7OMI 1R ORTOIR
(" 1°7) 12987 PP mIn KD A7 2127

c) Note here too that all 2°2>7 of the x2°0 are already said in the "
3) mooin
a) oRw



4)

5)

6)

7)

1) What’s the purpose of the xmn° (axn X 2°127) in the 850 of part 1
b) nawn

i) To teach that o°12 have a nn>7p over mia in m>na from ax
C) TOoRW

1) Say that it’s the Xw that’s °n1» and derive the 7»7p of 2212 from nx 28M"
"07127 in the xw™

d) nawn
i) The mwn sets out the &w»n first so it’s the ¥9°0 that’s 2n1n
Xnx at avp a7

a) From the mynwn of 15m1 nink "12" in the xw of part 2 the X3 is w17 that °12
717 have a nn>7p over 12>7 12 in the 2°001 of 12387 who is ank 71°7 "N

n"awn at ;7P A7

a) Although all o°1>7 of the x5°0 of part 2 are already said in the xw1 the 85°0 is listed
anyway X173 23X and doesn’t count as a X71n°

Twni of msoin
a) Nwp

1) Why is it that in part 2 of the mawn the &73 derives the 7272 of mnx 12 in
oX °nx nm from the mynwn of s12 while in part 1 of the mawn the X713 needs to
rely on the xn> of the &9°0 to teach that o°12 have a nn>7p over N1 in a8 nom

X"wann
a) Nwp

i) To answer this xwp why doesn’t mooin disagree with o"aw- and say that °12
mnx and ax:7 °nR are both listed — not because of ¥373 — but to result in MR °12
being a xn> from which the X3 derives the nn>7p of MmNk °12 in oX °"nX nom

b) v
i) mnxoaais listed first —in the xw» —and we’re w7 a X1 only from the x9°0
c) wwp

i) Why doesn’t mooin answer that the x7ma in fact considers axi °nx in the 85°0
to be the x7n° from which the &3 derives the a7 of MINK °12 in oX °nX Nom

d) yrrn

i) The x50 of ok *nX doesn’t refer to 0°12 S0 NO w17 on the 7R of MR °12in
ox °nx noni can be derived from it



INNRN OXI TN XN D1 TYNAL AND N 'NXE A" TN

ART T ART WA "'y 177 BYon RPD1 AN MK 12 AN 7 PNy 7''7a
MDINT WY 17'0 9oy "> N DR AR NN KUY 120 DA "o avp
AR 119077 "D 2P AR T AR INTT WHSD T2 PINTD NN PR Wb
TTINDT YA TWR 23 NN DWW PaAR MR KUY 2% I KUY DA DR AN
N2 995 9751 AR MR 9T PPAINNRA RITI2 2INP AR 2 PANRT 107 MY
T2T1B 32 19 PRI 2P AR DA OART 190 KON N DWW PaN AR wanwn
N7 DR PAR MR RUTR PARD DITITD 202 W1 RAT 0T DT ONN W4T
1125 BT apa W RWT T BT AR 9TV NavNS2 AR ONRIM 391 N2
PARD 9D M2p2 WNM PAR IN NRY 2MR PN AR DR DR PR XM

2197 979 KD 1M 10 nR DR AR MR XMW

R RPI7 287 372 7R 10 J1OPRRT IR TIURIN KD "7 0o 7''Na
RD 7900% a7 2 PART ST 270279 wID B'ay "D anm I PhN
R I IR KDY RAR RPT2 2" 2R WA 'Y 7Y JIOURART TOURONR
192 2R 32 PAR UAPT 2AR AR 12 PR ANPT MY TR XY XnwnT
12790 RIIRY QRT3 PPN KDY RPTY RIR TIUZN KD 779093 2NT I PINT
RIPTI 717 KD U KD 57929397 23 DY ORY 12 XM1209 287 12 PR KT

t2'YTY AR I IR KDY R P

TN 23R NS TR RPT TV N2 23K 210D A1 aRT MR DR NI 7''N2
23R FINTT 912 RWIM2 1N SNORT 'R 9oy "o RDT 712 DI N7 N7
Y9 NP NP AT MINRT D' R IDINT AWM ROIIT NDIWT NN 12
TINR D27 DAN TRMD2 A PAMND 2Mw 190 DI B saa v vanvey
512 971 NP R OODY DO DI 1T IWTBANRD TR ROWP KD PR
T ''mY WNDA RWNIDK ORT NN
1) First nnpn
a) This is the m>m1 770 based on o059 in 't2 727132 as explained by the xanx
i) 2R X MR2R N2
2) Second nTpi
a) mwn
i) 72mIm PRMI AR M PR
i) 12°man X921 POMI KD ORI 9 7R
3) Third mn7pn — 222 wnwn part 1



4)

5)

6)

7)

8)

9)

a) If >n%o would be nn»i 021 wr based on the m»m1 770 but °11%5 has already died —
199 is treated napa as if he were w1 the n»isoa1 and as if he were in turn won
the 0°051 to his own o>w 1 in the m%n1 970 — namely first to *11%5 32 then to *11%5 na
and then to °11%5 ax and so on

b) Because 12 and na are for each level of w the first and second in the nyona 970
it follows that 12p2 wyawi can also be stated this way

i) If 195 would be n»i7 °001 w1 based on the m>mi 970 but *17%9 has already died
— 1170 is treated 12p2 as if he were w1y the nni >oo1 and as if he were in turn
v the o°021 to his own o°wAr and their 3299 582y in the m>n1 170 —
namely first to °1795 12 and 1297 "8x then to *1%5 n2 and m1299° "82 and then
to 1199 2K and 12977 "8xY° and so on

Fourth mn7pn — 22p2 winwn part 2

a) if there are no 77 °xx» of nni7 32 and nxn ak has already died and has no 777 *Rxy
and nni7 2K *2& who would be next in m>mr1 770 has also died then the same as
already noted — we treat nni7 2R *2X as if 12p2 he were wa the nni7 »021 and as if he
were in turn w7 the 0°021 to his own owAy (and their 19270 *xx) in the nm%n 970

Fifth 7P — 22p2 wnwn part 3

a) where the n» has no surviving 77 °kx1> and n»i ax has also died and his 712 —who
is nnan onk — is alive — then i onx is Yma both because he is listed next in 170
m>n1 and also by wnwn from nian ax as 32 of the nni ax

b) nmwooin will later discuss why nx needs to be listed in n%m1 970 at all
Sixth nnpn

a) If in the fourth 7n7pi the N 2K *ax has died and his 12 — who is nnn AR R — is
alive — the yax °nx is w1 because he is next in m>m1 970 as 1ax *nx of the n» and
also by way of wnwn from nni °ak ak as his 12 and by wyawi from nni 2R as his
X

b) nmwooin will later discuss why nni7 2x nix needs to be listed in n%m1 270 at all
{Seventh 7P

a) It seems that in the sixth 77pn the main wyawn is from nni7 AR *ar because where
the nn ar is 72p2 v to his 2wy his ar — the nig °ar ak — has an°Tp in the 270
mb>n1 over his nx the niar »ax nx}

Eighth mn7pn
a) noRw
i) How does the m1wn derive that n»i nInR °12 are WA
b) nawn
1) by wmwn from nnm ax as 1377 R
mooIn
a) Xwp



i) axnonxisalso listed in the m%m 970 — why isn’t 287 °nx listed in the 7awn
b) yynof "

1) We know anyway that n»ni7 2R °nR is w1 by wnwn from nnn ax as his 12 — the
following xwp by &"w1mn is obvious

10) X"wAia at ar7 1 v a7
a) Nwp

1) nnmaR onR is war by wnswn as 12 of the w v only if the wyawn is from ax »ax
nnn — not if the wwn is from nin ax

b) v n
i) pm72—°"1actually means n»:i AR *ax

c) Nwp
i) Why doesn’t >"1 rely on winwn from nnn ax as the nx of ninn ax
i) {note that the seventh nn7pi apparently answers this xwp}

d) y»n

1) X"wannn ear in fact changes the xom3 in m»oIn to say that nin AR °nx takes by
wiawn from nni ax as nx of the nian ax

11) qwni of mooin

a) xwp to the yrn of > that the mawn doesn’t list 2% *nx because we already know
that he’s w1 by wnwn

i) But then the mawn should at least teach the 17 of winwn
b) nawn

i) The mwn in effect teaches the 17 of wywawn by listing mink °12 since we’ve
established that 7w by mink °12 is based on wnwn

c) Nwp
i) Then why does the awn list ax: 12 i °nx who also takes by winwn
d) yrn

i) The mawn lists ax7 1 nan nx and says that they’re 12°mam1 P2ma only 3% 7172
because the mawn needs to point out that ax: 12 PR aren’t P2 1Pom3

12) qwni of mooin as explained by R"wAman at &0 21 782
a) Xwp

i) now that we’ve established that even if the mawn didn’t list 287 11 1R we’d
know anyway that ax: 12 pnx are w1 by wswn — we can say that the mawn
lists ar:71 1» 1R anyway to be p>»1n that P2oman X?1 P2 K ORI 17 PR

i) wo why does the mawn need to list 1°7°mam X1 1P9m1 K7 ORT 19 1°IR
b) v n



1) if ok7 1 1R weren’t listed we might have said that 2x7 1 1°nx are listed — not
to be p>»n that ax7 12 PR aren’t P2 Pom1 — but to teach the xn121 that
AR M AR are W even though their marp isn’t *XM

13) qwni of mooin
a) Nwp
i) the mwn lists oxn °nx and says that they aren’t 1°2°man o

i) why doesn’t the 7awn on an X173 23k basis also list 2x:7 °nx to say that Ponn
R ghtal
b) yynof "1

i) The prior m»oIn noted that — because ox:1 °nx is the same as NInx *12 — the mwn
didn’t need to list even o "nx

14) x"wn at mRn oxY 7R3
a) Nwp

i) moowin ought also have asked that 17°mam 1P>ma nxa »12 should have been listed
in the w1 by way of 23x from the ¥5°0 where the mi1wn needs to teach that 12
MR aren’t 1°2°073m PO

b) v n

i) moown asks only why the miawn doesn’t list o°217p that are listed in m>n1 770 —
ax onx are listed in m%n3 970 — AR °12 aren’t listed in M>m1 770

N2 71

NANTN AT D" avwN

TR 121 278 W PR 2R "D 7720 7aNT7R 1''7a 2'awnea [2 Ty e T
RIW5R TINS5 2oy "1 1IRWD BRI AR 2NN N2 W PR o "o W
YATI? ANT TR 7277 RIBITRY ARD 2T RO AN 01200 197 1297
1125 2NN ARY W PR AR IRV DR annN 2978 9 PR 2R 178N 321
FTATTR WARP KT WIIDW 11D WY N°1 AR 15 na% anniy 1217 1N oy
TIYD ROR 2NN MMRP RDT PAWR DT 27 DR RITINY N7 OIN ;7A0R
IR AT ARD PRATIP 91D 1R N2Y 12 2T ANT TR AN nand
ROWP RP PDR 2RD PMITPRD 1IN 20127 RNWT NOR PIONR K97 ORRDT
R297R 272009 K297 RONX RNWT W 29257 KD PN 2Ry 1912 29790 1
7Y ARD PRTIP WIDIDT MONRD KON NOR AR ARD 27TIP N2Y 127 ORTIA
T ''mY ARD IRITPRY 1IRR 290D 2"V Y PonT
1) Here is the m%n1 770 in the actual order of the a*P105 in 't 92712
a) IRV 2R MR AR N2 J2



2)

3)

4)

5)

6)

7)

Xn°°12
a) 1Rw means n»i ax and the mna 170 is this

1) 2R°MXMRIRN2I2
Rpfab}
a) Xwp —"NKRT DR IR 7291 7277R"
n"awn as explained by X"wAn
a) "MX7 DR IR 727 7277XR" doesn’t mean that the 570 should be: ax °nx na 32 ax nx
b) Instead the X713 means to ask that this should be the 270: ax *nx ax n2 72 nX
R"wIN
a) The v by o"awn is correct for the following reasons

i) First

(1) The 3 doesn’t say "nam 1277 DR ROXINY FIRT 2IR 7279 7277R"
i) Second

(1) It’s only at the end of the X210 that the X n3 is o that ax is called "y xw"
to teach the fn>7p of ax

(2) So it’s not 7anon that at this point the &7 asks that ax should be given
TnY7P over N1 2

Twnn of the X
a) y™n

i) It’s not 1anon for nx to have nn°7p over n21 32
Twnn of R"wann

a) At this point the x7na still doesn’t realize that 1 &w teaches a nn>7p for ax and the
X3 assumes that this is the 770: ax nX a8 X 232

(mwn) A7 o ka0 YN

77 9oy "D DD RN 2nsT 19AR MR N'KY N2 N0 9o a'Ta 'on
5% PRI DY 2''ARY B AR MR DY MIRPAY PI0D2 IMINGT MR
SRR R 3D AR DAk PR we KR 9D AR MRT RWp T 2wn
PR 2N2MD TMURIR Y2900 70D TR BaR 929ND 7702 IRY 7R P
R7291 KDY 12 7IAR ORI 2R 32 77001 020 NN N2 2R NNaUTIe waTRb
RTP2 IR 29007 RDWT AN 2 U0 ™ayR AR N2 2pna nNavm

9=y 3aRD 2" AN 1Y YRR X9

B9y "D PRATIP N2 AR Y2300 JIT00T KT 192K MR 2300 RY ORT 7''N2
IZINW 1AD MWIMD RO RIT 2D PAR RNWT X208 2120 MRpaR PR

10



ARY MITPRD 19 199 92502 70D RNWT RIT 12 N2 2T AR KT AR
MITPRY PN ANSRD TVRON 2300 ITODT RITNI RAWT 9T 1R RN
W'D aRY MTIP IR RN2012T 23 WY AR PAR 200D 77 KD ONT 28D
"DY ARY MITPRY 19 NOR 2902 2RY 2900 KD PART 7190 ' ph nDeInT

9''mY IR

T2 NIRT "2 29N KD ORT 2" "2 BMH R1Amt 2097 ORI NN 7''N2
T v 2"y RS aTIR 29 21PaT PP 2oy "D T T AR MITPRD

1)

2)

3)

4)

:2'"7Y IR 29057 RY 2''RT [19197 aR®] (2KD 190R) 7PN

15 7272
a) 1IR? 27 DX aNNN D217 PR 2R 1027 N2 DR 2NT2YTI2 PR 121 MR 0D WOR
b) ax °nRY NN DR QNN DR 12 PR OX)
C) INR WM INMOWNA 1PHR 2797 1IRWY IN2NI DR 2NN PARD DO PR DX
X2
a) IIRW means nni xR
b) the m>m1 970 iS 2R °AR 17X A8 N2 12
XM
a) Nwp

i) xw is listed in the wno after ax *nx
b) ox1n

i) One y°nis based on the mvw of "2°n> 11700 X5w *X1p" discussed below

ii) A second yyn is based on the nuw of »01 272 Sxynw» " also discussed below
22N 17700 ROW RIP"

a) the >0 must be 17703 X9Ww because it’s not 12non that 2 *nx — who derives his
mamp through ax — is w1 before ax

b) the word »xw means a 211 and the pyos refers to ax as 1 xw to teach that ax has
greater ma°1p than a certain other 217p and that ax is w1 before that other 217p

i) Now

(1) it can’t be that the other 217p over whom the a& has 7»°7p is 1k nx
because — as we’ve already explained — even without 1xw we’d know
X1207 that ax has nm°7p over vax “nx

(2) and it can’t be that 2K has 7>7p over na1 j2 because the words 21p5 1KY
1HX teach omp 21p 211p to preserve the ma>7p of 12 and na who 70%72 have
greater ma>1p to the n» than ax

i) so "Rw" must teach that ax has 7»°7p over nx

11



5) avw of *01 *272 YRYHAY

6)

a) 1R doesn’t mean ax — that ax is w1 is derived from a separate w7 in *790
b) The >xnp are listed 17705 — namely 2X7 °nX X N2 712
C) now
i) an9awm in "iN2% 1nona Nk onnavm" refers to a nbma N2y that’s away from ax

ii) "wna% 1nom1 nx" teaches that — it’s only "na oyp»a" (in favor of na) that we’re
7°2yn the 7%m1 from 28 — and not nx oypna (in favor of nx)

iii) So that the mm1 970 is 28 °nX NX a8 N2 12
d) wwp
i) say that
(1) onnavm in "na% nom Nk anavm" refers to a n9m1 n1avn away from nx

(2) 1n2 1noma nx teaches that — it’s only "n2 oypna" (in favor of na) that we’re
722y the 7%m1 from nx — and that ax opn2a (in favor of a8) we’re not vayn
the 7%m1 from nx

e) y1nas explained by o"awn at X»°X 17"7 on .vp A7

i) To teach that na has »°7p over nx the P05 wouldn’t need to use the special
word "anfaym"

i) Because
(1) The 105 mentions nix and lists n2 before nx

(2) and for >y *272 SRvaw» " the 970 in the 7Moo is meaningful because *xap
°2°n3 1703

f) In short — for *o1 "2 H&ynw» ' it’s because the P05 mentions nx that we’re w17
anavm to teach that ax is w1 before nx

mooIn
a) First xwp

i)  Why does the oo need to list ax °nx when —for a reason not relevant here —
we’d anyway have known that aR *nx is w1

b) y1n of 0"20n that applies only for the nvw that *2°n3 719705 ROW "X

i) The oo needs to list ax °nx to prove that the oo is 177°03 X5w on the basis
that ax °nx who derives his m2>p from ax can’t be w11 before ax

il) the fact alone that nix is listed before ax-17&w isn’t enough to prove the P09 is
171705 ROW because we can accept that nx is 7P to ax based on certain n1120
brought by msoin

c) Second xwp

i)  Why does the »oo need to list ik when we’d anyway know that rix is w91 by
winwn — the oo of this wnwn aren’t relevant here

12



7) R"wonnat o0 n"t
a) Nwp

i) Since the P lists nx before 2k *nx — moon ought to have first asked its
second x°wp first on why nx needs to be listed before its first x>wp on why °nx
ax needs to be listed

b) v n

1) mooin asks its Xwp to axr *nx first because this xwp applies both for the vw
of 17705 X%w and for the v>w of >0y "2 Hrynw> "

ii) But the xwp to nx doesn’t apply to the 7v*w of 01 °272 YRynw» '3 because for
this nmv>w we’ve earlier explained that nx needs to be listed to make clear that
ann2ym teaches that ax is w1 before nx

8) Twnn of mooin
a) y1°nto the second xwp of moown on why nix needs to be listed in the o5

i) We’ve established that this x*wp that applies only for the v w of X5w *xap
°2°N3 1703

i) We’ve also established that for this qvw

(1) mxw teaches that ax has nn*7p —not only over axr °nx — but also over a
certain other 2179 while a73p 217p 217017 teaches there are still 2217 who
have nn>7p over ax

(2) And that nx is the 217p over whom ax has 72>7p and n21 32 are the o°21p
who have 2>7p over aR

iii) now
(1) it’s correct that if ik weren’t listed we’d know that niX is w2 by wyawn

(2) but we’d have said that na is the 211 against whom ax has nm°7p by way
of 1 xw because we’d have said that the 7»°7p is intended 2p°va against na
who’s listed in the moo — so that 28 would have had 2>7p over na — as
well as over nx who wouldn’t be listed and would be w21 only by wnwn

b) xwp
i) Now that the o lists both na and nx
i) Say that
(1) mxw says that 2x goes before both na and nx
(2) And that a7 217p 2P0 puts only 12 before ax
c) y™n

(1) mrw can give 7272 to ar only over one listed 217 — and since the 7105
lists both na and nix we apply the nn>7p only against nx — but if only na
were listed we’d apply the 7n°7p based on 1axw against n2 as well as
against nx who wouldn’t be listed and would be w1 only by wnwn

13



9) —aRn XY 7RI R"WAN
a) xwp to the yr7°n of mooin
1) Why is a7p 279 2172 needed to teach that n21 32 have nn*7p over ax
i) Even without amp 217p 217p

(1) we’d know that 12 and na have 7 over ar because if 2x has »°7p over
n2 the 09 shouldn’t have listed nX and we’d then establish that ax has
7a>7p over na since na would be listed and not nx

(2) we’d also know that ax has 72>7p over nx who would take only by wynwn

(3) and since we’d know that na has nn>7p over 28 we’d know by 10w 9> that 12
has nn>7p over ax

10) mson

a) Refer back to the y1°n of 0"2°1 to the first x°wp of moown on why the 109 needs to
list a8 nx

i) The mo» needs to list ax *nx to prove that the P05 is 117°00 X9w on the basis
that ax °nx who derives his m2>1p from ax can’t be w1 before ax

ii) The fact alone that nix is listed before 2x-19&w isn’t enough to prove the P10 is
17702 X9w because we can accept that nx is o7 to ax based on certain 1720
brought by msoin

11) x"w1n at 2205 R X7 7"K2
a) xwp to the yr»n of 0"am
i) ax xR ought not to be necessary to teach that the *x1p must be 17700 Xow

ii) because even if ax °nx weren’t listed the only way | could explain why nx
needs to be listed would be by saying 17703 8w *xp

iii) because
(1) if the *xp were 17705

(2) the y1°n that mooin just gave to its second x>wp on why nx needs to be
listed — namely because otherwise I’d say that ax is na? o7 — no longer
would apply since na is listed before ax-1xw and the >x1p are 11705

b) v
i) If ax7°nx wasn’t listed and nix was listed | would explain myva that

(1) the o>moo are 11703 and 1x needs to be listed to teach that nx is a7 to
2R-1RW that’s listed after X — and I’d explain as part of my mwyv that if ax
were listed and not nx this would be reason enough to decide that ax
would have nn*7p over nx despite the m20 mentioned earlier by msoin
that support that nx goes before ax

O 71
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ANNY TN' 2" T 0" awn

2NN IR P PR ANRY "D AR TARR 772 2'awana [R TRy up 7]
N920 290% yawn vom R''oy "o 1nab nbnr nR an=aym "2 1nRY anbm
"2 BN 2% 297P DID0 NARPTS Jan P ARD 297PR RDT RDWIT wRnT
'35 29297 PIYDT 190 UWNAT N7 ONYIN PUOR K97 1190 N2 a7 AN wm

('™ 2" 2D IINY 1120 0aR NN 2190 nan aRp N o'

NTOD X7¥ N7 T DMawN

19292 321 "12 195Y 19 97 IOR 32 "12 999X ORIPT 10 JNT70D RO NP 17172

PR DIWWR KPR IAPDTD N2D 2 2970 RNT IDOIRT NP N2y 12 B0y

T QIR ANDRD TR KD IIRAT 1202 DD NIDOINT TR 30 wWhDD TR

29n277 Nab 12 297PNR RN 1APD PO0RT ORRAYY "o wRwn hn1T 10
;2'"117Y 9D RT3 @2t1ab amk anbminm

1) xm

a) The m>n1 70 is written 17700 RS — o o rely on o7p 217p 217p to set out the
relative mn»>7p of different ooap

2) o"awn
a) Nwp
i) Then the m0o could have said only 1nmownn 2R 217P% IN201 DR NN
i) Why does the 7105 need to list nix na 32 and other o>217p
b) y1n

i) For each of these o°217p we’re w17 at . vop 77 that 1°%v 1>y meaning that if that
217p was in line for w1y but died before the nia whose 7%m1 is being
distributed then the 59 *xx of that 217 are w1 by 23pa winwn

3) X"wann
a) Nwp
i) 1It’s correct that the o°»0o for nay 32 teach wnwn

i) But o"aw should have noted that the 7105 anyway needs to set out na1 32 to
teach that 12 is ma% amp

b) First y1°n

1) a"awn refers only to nx when o"aw" says that the only purpose of the 05 to
list a 217p is to teach that there is wyawn for 12> >xxy of that 217p

c) Xwp to the first y1n
i) See the mnTpn on wnwn at ax:7 1 1IR30 AP A7
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ii) Now
(1) There is no need for a special T12°% to teach wywawn for 127 >xxy of nx

(2) Because once there is wnwn to 13> *xx of 32 there would automatically
be wnwn to 15070 *x¥» of nx in his role as 12 of nni "aR

d) Second y1n
i) That 12 is n2% omp we already know at :>p 77 from 02°12% omR anominm

NN'X n"TDn"awn
N7 70Y Noan o 2’ awn

DAY PART 2 NPT MAKRPY ORP AR RRVPT PAKK N2V ORTT KON
AR ORY $[FIR] dAPR N7 IR AR NORY IMN PR PAR N2 PR KT N2d
ST RUANWR R RPIT IRD 77 .02 2972 19I0KY a7 12 79I vayn
NOR 282 R 9997 K97 aRD NATI? N2T 090N KD X7 ORTA MRP 907 KON

951 2197 RITT N2AY 2TIP ART 0 NN 29D KON 1IN2

29N R N2 PRY 23PR2 0N PAKRT NNV ORI RAR MDADT 10 2N
PARD NDPEI AR 2NN N2 10 PR AR 23N0TR TP JPAR RPOMNRT NN2YT
TNT00 RDPW RMOIT ARD 1INR W7 XY N7 92°ND 702 NI NP NIT
T N2 QIPR YPODRY ANT I TR T02AYR NN ORI JIOPOTT DIV ORI 92901
T32Y7% TINR PTORD RDONR NN2AYTIN TANTRT 9 YRR NN2YIR IND RPPT

127 2IPR 2RT I M

997 INWN 9T IINY
N'"wn

DR MWDK 2R WD 'Y {9whT a'awa® pan) 1''7a
R17 IND N2 29072 28T T2 79N 020K AR ORI MARPT RPI1IT ONTT whsb
SIRAT WD DB TN NWR M7 KDY D'KRT 21N "D YANwR RIPK
R7{7} "YRNWR RYMR N2 PR 2IPR2 N7 PAKRT 70 anb ntaym"

N2 2IPR2 AN 17 79I 2R NN ORT RPIITY DY TURON

RP197 ORI 95 R2ORT 1190 »'"RT 30 wHDh WD RN KD DN NN
N2 2R ART IR UM VAR AR PTORY STI0IR RP1T ORI MMD RN
YRR RPIT ORI TINRDIN ORI

1 TR 32K AN ORI RN TINDT RPIT ORI ORTIT NIDDINT WD IR
D57 YRR R ANNAYTIT 7199 IWRY YRR RUPR A1 N2 219122 199N AN
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2NNV TVROR T KD RADT 2''2weps 1R DR ORR 79207 7 PRY

1)

2)

3)

'
X723 — 7w of "0 272 YRy
a) MXw doesn’t mean 2R — that ax is wy at all is derived from a w7 in »90

b) The o°05 on 7%5m1 970 are listed 19705 namely 2&:7 °nX 17X N2 72 — and since 2K isn’t
mentioned we know his 2> only by this w17

12 W2 2R WK 721 — "[Nn Hw] N2 [2K 12] NP1 DR onavm 1217 PR oxy”
[n2 n2w%] N2 2PN 2R 1 7771 1°7°297 1 00 HY AR WK TR

O7IP 2RT A2MY — [AR N2WD] AR QIPR2 IR 2 7273 PR AR ORI PRI
x>

c) It follows that the 770 of m%m1is AR *nR X a8 N2 72
Twnn of the X ma as understood by o"awn
a) xwp of "xnxy"
1) Maybe ann2ym teaches that
(1) n27 n2W% AR T2 NPNI P2V ANR N2 DRl
(2) "na o1pna 17908 2R 1 M AV DR OR)
i) So that ax has n2>7p even over na and the 270 IS X N2 X 12
b) 10 of 10 ox

i) To teach that na has f»°7p over nx the 7105 wouldn’t need to use the special
word "an7aym"”

ii) Because the 270 of the o°p0s has na before nx and *01 *272 Sxynw» " says that
°2°N3 171703 RIP

0"aw" as explained by X"wAn
a) xwp of o"awn to the y17on of 10 ox

i) But the nvw of "&n°x1" said that an72vm is needed also to be p»7n that ax have
TP over na

b) y1°n of o"awn as explained by X"wann

i) The ywpn doesn’t derive the 72>7p of 28 over na from the P05 — instead the
TWwpn says that since 1w w the p1oo deals only with nix no 1°7 can be derived
from the 7105 on the 7P of ax and we can then rely on &120 to say that ax
has 72>7p even over na because ax is *5v 2P

i) The j¥n answers
(1) Part 1

(a) the poo isn’t needed to teach 1172y from nX to N2 because — as we’ve
already explained —the 270 of the a°*»05 has na before nix and for "
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"0 "272 HRynw the order of the 0°»105 is meaningful because they’re
1770

(2) part 2

() nor is the oo needed to teach the v w of xnX that 2x has 7>7p over
na since this 7w relies on X120 to teach the 71>7p of 2% over na

4) mooin as explained by X"wAan
a) Nwp to 0"aw"

i)  Why would the jwpn of "xn x1" think that a 720 that says ax has nn*7p over na
is stronger than a &720 that na has nn°7p over ax

b) nww of mooin

i) In fact it’s based on an72ym that jwpn of "&n R is P71 that 2°2vn nk K"
"na 01pna 17908 A 1 2m1 — namely that ax has 707 over na

i) The 7¥7n answers either
(1) Part1

(@) mmavi from nx to N2 doesn’t count as 772v;7 in the oo for a reason set
out in m»oIn that’s not relevant here — note that this “part 1” is slightly
different from the “part 1 of 2"2w mentioned earlier

(2) Part 2

(@) So anmavm must instead teach — in accordance with the 73%7 and
contrary to the vw of the ywpn — that there is a 712y from 2x to na
and na has nn>7p over ax

5) X"wann
a) The nww of the ywpn can also be explained this way
i) Part1—the same was Part 1 of the 7%nn of o"awn

(1) the moo isn’t needed to teach 772y from nix to N2 because — as we’ve
already explained — the 170 of the o°p109 has na before nx and for
"0 "272 Hrynw the order of the 005 is meaningful because they’re 17703

ii) part 2 —the same as Part 2 of npoin

(1) So the oo must instead teach — contrary to the 7u°w of the ywpn — that
there is a 712y from 2x to n2 and na has 7P over ax

nuni 2T 0"awvwn

M9 9% PTR 2N PN 11T 79T 1D 921 Ay 7' 7a [2 TRy up 07
RN 12 ONRTT ORT T 92 9'OY "o 2mwnn 7w 12 7''7a anoTey '
MINRY TR N7 R? RUT TWR 32 QIWTAT N7 WINR WN 12 770 wAnn
DWT 2N TWERY TR 2 2MWIAT WD RNMMINAT 77T KPR 77INSD
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"NR TR 1APDTS BRY 2w ININTY 1TT VR DRIAW 2WTA M12 wR
27 7777 NP ORT

NTA L

'"mINT DIAN 0T D"awn

TR 77T PR 0 ARY 70T 100 12 1AORT AR 17772 [R 7Y o 7]

$7''% D'AIRY ' ITAT JNINTOR N 10 [ RAINT AN R KON A7 Svva

IR 093 RN20 7 2119 P 2 awnnn 1 AT PRI 'R "D BRwID

TIYOMNR NN DR OTAR INTT STANT TIAN WRR WA T 7' K92 TN

IRD 2"V IAIRT MART 2" awNDh DURRR ININTR P AN 'R M7 MM
'Y T IR T T RPN wnn

1) X

a) because nwn married 1n° n2 instead of 021w N2

b) his grandson jn17° the son of oyw-i— the fourth 717 to 170> — was a 375 to 15 09

"
wn? 1N’ na
ja) /b8
NN

AN —

c) Nwp

i) A w7 not relevant here teaches that on°s *ax “1¥ox married 11n° n2 so that
on1°o was '3 17 to 110 and was even closer to 170 than 10

ARhY
VIR 10 N2
onry

d) ynas explained by o"awn

i) onro had the advantage of being a descendant of noy as well as a descendant
of 1

2) o"awn
a) The X means that Either

i) 7O N2 AT (OA1DT) PRORT XK — 1907 12 7 (DADT) KT MART N

0O N2 "R XK 1IN° 12 PRORT AR
noY e 1
X2°K) A1 N2 I2R) 107 12 2
(onroT KT (onDT "MONT
onI’® ox 3
ono 4

i) 1907 N2 AN (ON1DT) MIHORT KWK — 7O 12 7 (OA1DT) MHORT MIART W

[ 10 na X7 XK 0P 12 NT AR | |
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" qov 1

NOX) 10 N2 mMax) AoP 12 2
(on1oT MNT (onoT PIRT

oD OX 3

ono 4

b) xwp
i) still ons was no more than '7 117 to 1n° — the same as 11T
C) y™n

i) Must be that the X3 isn’t P> and actually there was another =17 between
oo ok and the children of Aoy and v

il) so that ona*s was 7 17 to 17n° that’s one 717 more distant than jnnm
3) R"wann —aww of 7"amin a"awn

a) The X is in fact p>>7n that on°o was ' 917 to 10> because the correct xona in the
X3 is "neRT" instead of "R

i) OMID OR W) AMIRT TARI — 01 12 7 (VIR WK OND OR YW) AMIRT MIAXT X"
1N N2 007 (TYOR DY

" qo7 1
R2OR) 100 N2 712K) 701 12
NWRT RANT NWRT RRT
(YR QRS

TYOR NWR OR 3

oD OR MYIR NWR 4

o 5

i) NWR ON1D OR W) AWINRT ORI - 10 12 07 (YD NWR OAPD DX HW) TMORT TIART N
"0 N2 AN (TYIR

qo7 " 1

N72°K) o1’ N2 MaR) 10’ 12 2
NWRT RKT NWRT RAINT
(YR (YR

YO NWR OX 3

OND R WYIR NWR 4

onrd 5

0T

Avw n"T1 n"awn

"2 TIT TRV 31921 7 PPA2 "1 190D 37 un AR "D B-RY aww 1''a
T mY b PIWHR R B''ND K7

NN'7'21 VIYD NN2A
‘5= NIDTINDY 2" AWID2Y KIAA2 DY 15 RNDI2I LIWD "B
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0T

N99 A1 " x a"Tn"avwi mak "k a1 n"awvwn

WOR 2noRD 7199 SpacR 9 12 AR PR 7''7a a'awana [2 Ty P 7]
B RDT 1APD 191 K27 MaR MaT2a whk p7RT 2oy " PR YO M D
TLROR KD AR NN20 DR RTIT 2R "B W PR Y PN anond
STOTII NWTYY N2 DY RUTT MAR PIDATD KT RN N2 ORI NAT JIWIRNRWNRY
299 PR PO BaR N2k 112% anon® wRnh pTRT NDD 27 9M272 YaR Kpol
Y7 RDY D9 TOMI NWS NAT VT T KD 2''RT anon® B X9T R
12 09T R29T R'TOY T M2T2 WY R UMY J22 KON U MmN
TR 2O 12 PIRT WA N2 PR 157 1D "3 90 1PARD I nR annn
RS:77 ROP ONT 990 TIUROR KDY X7 77299 N2 921 N2 IRTIT 12K N920 00
D27 RO K297 92K 97272 KDL 27 727w 777 909 RDR Nab 12 297 KON

TP 9D WD RTINS Na M

X7 T KD 92970 JIOINWRY RIP RANT 29202 "1 XDD 27 799 1R 17''72
WHNT 257 NRITOT DIYD 2" awn whnw 171 90 9oy "D 1025 12k anonb
T2 PR ANT2YTY PIAT 9297 12NDW NIDDINT M2 ROWI K27 a0 0
Noq MRpaR Xep 2% BT wR wNT 2w MR T PR " Mmayn
2NoRY TIVIOR RTINS N2 w1 na a1 N7 {(3''NT)} mwawsa
'Y TRNMO 922 IR0 NaT 22w DD MWRAT Al AR vanTs antaym
TIAYY 92775 A anT2aYT 2nsn® TURR X7 12 A PR YN anon®
RN N2 A1 N2T RO JWIRWR OR INTIT 21N ANT I 277 DR R
QRT3 7277 NWINY 2" 70 nPORD anaymIT K192 70 anD DY RO
NN 2NN R27 2non® ' R RT 7RNN0 N2 ORI NaT 290D "207 1190 PaN
AR W% 127 anonk BT RDR X7 DAY A1 NaT JOPIRRKRD 1nab nbm
1™

1) First nnpn

a) 12027

i) PARY NP7 DR 2NN N2 17 PR OXY 022 NP0 DR 2NT2YTN2 PR 121 N 0D WIR
b) 1% 9272

i) 12w R TR AN TOAR N2 DROWRn TIRY DRIW 212 Munn 7271 WA’ N2 9
1PNIAR NP1 WOR DR

2) Second anTpi
a) Xnrmaat:vp a7
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3)

4)

5)

6)

i) "an
(1) 7m2vn 372 7K1 [aNN29MT XIp2a] IR AN 172 K1 2102
(2) N2 XOR VAYH VWA TN PANY 7 PRY
b) o"awnat :vp A7 at X117 "7
i) 21 derives from annaym that \nwR nX w9 ¥ and wR DR WA 12
C) nmoown at .op a7 at xeyw "7

i) 27 derives no 17 at all from ana2ym and mentions only that the 1w of 72vn
applies to na nw1* because this mw1 can lead to o°051 n1avi from one vaw to
another

XTnxat op a7
a) noRw
i) Mm% oMmp 02377 12
b) nawn
i) N2%IN971 DR QN2 2 PR 121 MR 0D WOR 20007
i) 07127217 W1 R 1217 PRT RPYY
X R9pPw of »ar and Xoo 27 that 2"awn and mooin will be axan below
a) First x°wp of x99 29

i) Maybe onn2vm 1% 1R 121 teaches only that if there’s a n2 and no 32 then there’s
a 712y of the entire 7%m1 to na

i) The mo»o doesn’t deal with the 17 where there is both 32 and na — and it’s
possible that 12 and na share equally

b) First y7°n of »ak

i) If 12 and na share equally it can’t be that a 7109 is needed to teach that where
there’s only a 12 or a na that person is w1 the entire 7%m1

c) Second xwp of ¥95 29
i) Maybe the p109 is needed to teach that a na is also a 7w na in the first place
d) Second yy°n of »ax
i) We already know that a nais a mw° na from "3%m1 nwAr na 50"
7n7Pn to 0"awA on the first Y100 of »ax as explained by X"w-nn at »2ax ™% R 7"7
a) o"awn is first waon the first y17°n of »»ax based on the actual 71> of »ax

b) a"awA then explains that x5 27 misunderstood the first y17°n of »»ax and this is
why &5 21 followed with his second x°wp to »ax

a"aw" — actual 7115 of »ax
a) 11rnof »aK
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7)

8)

b)

i) If naand ja are equals then they both count the same as "v=1" and the 05 that
starts "% px ox1" should have read this way: nX ann 12 PR a1 nn° % wR
PIRY N9

ii) So it must be that 32 is n2% o7 and the o needs to teach that still — if
there’s no j2 — then 1n2% 1n%n1 %5 an1avm

ToRY

1) Why wasn’t »ax in his y17°n concerned that maybe 32 and na are equals and
the P05 can’t say "2 X ¥71" because unless the »05 mentions na we might
have thought that na has no w17 17 altogether and doesn’t count as ¥~ for
the purpose of w1

72wn

i) »ax realized — and assumed that x99 27 would understand — that the oo of
nom1 nwa na 9o already teaches that na is a qw na

o"aw" — y17on of »ax as misunderstood by &oo 21

a)

b)

c)

N5 17

i) didn’t realize that »ax relies on 121 n2 %21 to teach that na is a mw1° na and
thought that as a result it couldn’t be that »ax answered that if x99 27 is correct
the p1oo should have said 3% 7R vn

i) instead &5 27 thought that »ax answered only that

(1) if y2 and na are equal the m05 wouldn’t need to deal at all with the 772v7
case where there’s only n2

(2) and it would have been enough for the P05 to say 1n%m1 anna N % woRY"
N271 125

that’s why x99 27 then asked his second xwp to *ax
i) Xwp
(1) I can say that 12 and na are equal

(2) and the reason that the m05 doesn’t say 1211127 1n%n1 onny is that an"avm
is needed to show that na is a 7w n2 also where there’s only na and
there’s a total 772vi7 from one vaw to another

717°n of »aR
i) We already know this from :7%m1 nwn1 na 5o

X" at Xp9 27 % mR A"y

a)

X°wp to the nvw of o"awA that *21 derives xn 127 nwr from anaavn
i) For »ax

(1) How can »ax derive from 17%m1 nw1 na %51 that a na is a 7wy na and say
that n21 32 aren’t W because otherwise the 0o shouldn’t have said
an1avm and instead should have said that "anna 12 1PX ¥31 D’ 52 wR"
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(2) When the oo can’t say 10211322 1n%m1 ann and needs to say anavm to
teach mxn 127 nw

i) For x99 21

(1) Why doesn’t %95 217 more simply say to *ax that it’s possible that n23 32
are equal and the 7105 can’t say 10211127 1n2n1 nX ann because the 7109
needs to say ann2aym to teach wakn 327 w1

b) y»n
i) Partl

(1) The mos wouldn’t rely on annavm to teach only that y&» 12 nwr» because
then the »oo would have preferred to say directly that vax w1 32

(2) But if the m0o also teaches that na is w1 na we understand that the o5
uses the word "an1aym" to imply both o7

i) Part?2

(1) This explains why »ax holds there’s no need for an72ym since na %o
mom nwaY already teaches nai nwh° SO anavm can’t teach only 127 N
lahta

(2) This also explains why x5 27 needs to ask that an2vm is needed for
nai nwn° because otherwise it would be clear that annavm can’t teach
RN 127 DY

INX NX U'NN D" TN

NP1 B 2907 AT RN P2 R P2 "D AR NN wORT A 'on
R 2R 7293 w2 2R TeYa oY TOmI Nav: Rl vt mapia sy "o
TRNT2T 122 2''RWM PRI 200 KD MR LVAWwH RITW Dyab o''nN Nwin

' ™Y AN NP A% D

X' Q7T

NDYYT ANl 7p 2N

11927 STRARY 1D DT MR TIY "D R V'R 7''7a [R TRy NP 7]
TDY o7 B ROy 19 RWT TIN2 WATRT T "0 Py 7 Upl ORBN
KD 371921 1" 9D 7900 R M aAPR KDY ORP TRAN 9197 YRwn 91TA
A1 9WPN 19 ART 77 90 21 T ATDY TR0 2mn 7' uPIT DR 1Y RN
'Y 79 NIRRT 1T YR T N
1) xma
a) "ov 7™ arawh mm SR 0o nYaw 0750 K27 192 P70 AR Awn OX 7 "

24



b) 11710 N1A% P70 A K2 1T ROR
2) mooin as explained by x"wann
a) Nwp

i)  Why does the X3 assume that without 17 the 7n°%5 would have been 14 days

b) y1°n by anan
i) The & nx assumes that there was a n79p11 by the 710w to o n
i) Now
(1) a father and mother each has five o>p%n in a child and the n1°ow has 10

(2) So the %3 caused by 797 from the n2°ow should be double the 72792
caused by 797 from a father

c) Firstxwp

i) then — even without the °mm %p — based on the direct nawn of on 11°27 the
%5 should be 14 days

d) Second xwp
1) 90 says the 77op wasn’t by the 72°0w but was by 11021 fwn
3) X"wann
a) Nwp
i) oo also says that the n79p7 by nwn was both as 7%» and as 7173 37

i) Why doesn’t m»oin answer that the nawn of 14 days is calculated based on
seven days for 79 and seven days for 917 175

b) v

i) The first x°wp of x"w-nn to on 1021 would still apply: then even without a 5p
mm the 7% should be 14 days based on the direct pawn

v 2" Tn

RP17 7257 722 J190P0 137 110 RN 1A RNTT R N0 un wpn ''Ta
MR W DR TP INT KD APST TR D AT N2 BaRk v R''oy "o
TR TR WP T R {19 PR N2} 1Y 1OV 1P PR J2 NS
N2 PR 327 32 W PIYY XPR 327 Nab Nam 32 297 PIvh wRa®
X% nam N2y N2 92 399} 1RY PP TR PR 12 IRY OR B9 wein KL 120
1 '92 797 17 PR 32 N7 923 3P0 uRaTY {19 PR N2 IRY IR Y9 e
TR RWPITA D WA /DR 127 127 700 ¥R IR 23R 1257 )2
19 PR TOIWIONR INAR NOR D' NRTA NIDOIN J190A2 TIWRAD R

I N0 MIVRT RWPOT 12T WRRNAN 70 R wInwnd nav
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1)

2)

3)

4)

mooIn — the 7vsw of >

a) "muwnn"is ok *021 wpn to ax *0d1 — as a result we derive that 2 has 72>7p over na
in ox *021 the same as 32 has 772 over na in ax *031 — namely 72°7 32 has 7P
over 717 n2 in the o°o0o1 of 12>7

b) "nmr won" teaches by wp i from 1wy 7w to aw nwr that 12 isamp tonaina
7m1 from ox "ax —namely where 2py° died and 1107 had already died then 7207 12
has a 7 over 717 na in the o021 of 2py that come to both 32 and na from 2py»
by winwn in the 1ap of 717 — the o°v9» of the wp i from nnwKY 7w aren’t
relevant here

Xn»12 at .vp a7 as explained by msoin

a) "% P 12" teaches that 1277 72 and 3217 n2 are wA from 125 naw 32 by wwawn from
his 1ap

b) ™? R na" teaches that nan 12 and nai na are war by wwnwn from 125 nnaw na by
vinwn from her 1ap

moaoin
a) Nwp

i) We established from nmx w1 and its wp>n of anwsn aw 0 1w nwr that
2Py’ "021 are Pwnwnn in n107 ap for the benefit of (n27 72) 717 72 and 707 N2
((na7 n2and it’s a 10w 92 that there’s wywawn for 127 32 and nan n2

b) 10 as explained by R"wann

i) The wp> of "1 qwr nnwra w7 teaches at first only that 1277 32 is wA by
7atalivga

i) That’s why the 12 P& of 12 is needed to teach that 1277 na is also nway by winwn
and the 12 1x of na is needed to teach that n277 32 and nai na are also Pw by
7alalv7ga)

iii) But once | know from 1% X 32 and 12 °X na that there is also wyawn for 1217 na
as well as for n277 32 and nai7 na we rely on the wp»i to teach further that — in
taking o°021 by wmwn — 17307 312 has nn*7p over 717 n2 and by way of 10w 9> that
127 72 is aMp to Jan N2

X"wann
a) Nwp

i) Then why does the xn>92 say that from 1% X 12 we also derive wyawn for 72
127

b) y»n
i) "M% up1oranR X"
c) Nwp by 19

i) Once we know from the wp>11 and from 12 X ja that there is wyawn for 127 12
and 1271 n2 why does the &7mx need to derive from 17 P& na that there is winwn
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for n277 32 and nai na —the 87723 could instead have relied on muvnan that’s wopn
OX °021 t0 2R *033

IN'7 T

YUNTT [NnY71 TN

22 PBY M2AYD TUROR 1IN DYa WINTT INRDY 7''R2 [2 TRy NP 07
TOWRORTA KUK DY DWW D DOHT IRRDT M 210 B0 "D IR
IRDD TR 2O9AYD "2 210N KD DR PVRONR TAPDTD 2OMYD IR 210N KD
DYDY BB 3T N7 RY 9257 IRD ORI Byan navoa R 7RANY 3277 navma
ST TR 2700 K97 IND2 "'V 1IN DYAn nRNY wONTT INRD PaN byan
TIRD "2 125 KPR 2100 KD "2 TUINR KDY 122 1720 DYa naT DR WY

' =y e R''oa

X1 '‘poSn n"T n"awn

TRWIY NN ITINGD XU POR 2199 "D ORI Kpoon 17''72 a''awnna
799 "' DIWHTIN NP VR 21257 A1 29T 23 DY AR 1102 B'oy 2Tt
PODDRY PIPDIR U 21T OIN2ADTN 1IND RAPIND TIIRT aARD KON
PITT RV 0T D'OY 21757 DY IIRWDT 7R ORI TR NN YINNRD
7217 AN INWRT R2D 7O9 TADT 1IRWR DR ORP 190K 219077 1"
A1 WD 2" AW IR KPR 1IND IR I3 29257 1IRWD AN 30 W7
PAR TR 2RI 29027 RAT RIP RUTTT RIPOA 199K 219257 291007 OR7Y RN22
t2''Y7Y BIPRTN ORP KD X2 Dar 2Ry 17 "o
1) xp
a) MR WM INmOWHRR YR 270 1KY 109N IR 2NN PARD 21K PR OR)
2) XnUM2
a) NWR DR WY WIRT TR0 INWR TR
3) XM
a) Nwp
i) The simple meaning of the mo» is that 752 nX nwaY WK
b) y1°n of »ax as explained by o"awn
i) Read the p0» this way:
ANIR WO IR — NADWHA YR 217P77 1NN DX 2NN 1PIARY 2K TR O
4) n"awn — w2 of the y1°n of »ax
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5)

6)

7)

8)

a) The poo first teaches that \nmownn 1R 217PA% 1021 DR 2NN
b) The oo then teaches the “n> iR xn%n that AR W 1RY
Twni of the X ma

a) Nwp by a9

1) »axis poon the 7Moo to move 1 XRw to the end of the 7105 and to move annn to
the beginning of the mo»

b) y1°n by xan
i) Explain the p1oo this way: 7nIX w71 19 1IRWw Nn3 DX annn
1993
a) 7oRw
i) What does &11 do with »ox 21p1
b) nawn

i) X217 reads the p1oo this way: n>na Nk NN NMOWHR POXR 2P 1P2AR? DR PR OX)
e RRNS

c) Nwp
i) X21too is also p>oon the P05 by moving onnn
d) y»n

i) °n1°07 P that 827 is also *&1p P 0on but »ax is also p oon the »11°x of annn to
apply it to 219pm and not to 1R

X"wn
a) The yyn of the 9 is a pr7
b) 10 to the xwp of the o
1) X271 reads the oo this way:
TR WA 172 INnOWwnan 199K 2P0 1KY NP1 DX annn
Twni of R"wammn

a) The v of o"awn — that the oo first teaches that 1°9% 217p7% 1n%na nR anna
nnawnn and the oo then teaches the snoanx kn% n that MR W 1IRw — applies
only for »ax and not for x2n

NDAN vOWN 17 NN

Y2 IRTP 727 N92 I9IDNR TIDNAD TR KD RN 70207 vewn Y0 17''72 'oIn
TARPTA 92 JAM 297 MART IWNT ORP K? R2DT 3T yRwn 0T By
AR ROR MRP KDY PART WNT ORP 2" A1 299 DaR 1D K29 AN KON
RWIR 799K J1002R% TR K2Y 1INRT 3190 K" 70P7 1199321 9''2 a1 a0
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2RIV IR TN RVIW A2 DR VYRR RIMAY WRA KDWY TN
FPIND RWIR PR 7799 JPRW RDT TIRPR RRIW 21722 1719 30000 T
BOPRT 13T 21 9 B R'5T TIIN 7T ROT 23 5P R 1IN N7 ROVIR'T

29" Py 1903 B0y 1177 O OTIT

wAI' XIN 2T

799 19997 IRRT 2oy 12 TR KDY DA nava T0RTAT D v R T2
R2PIRD R2OKRY 122 1722 DYam N2 572077 RIORT IRTY 1IRRR Dyan nw=
ORTY TN D207 DAN 01 PRWR 1IIINT PIDR 2''a0 11NN 2100 R

tP"'YTY 772077 ORTP U272 YRR NOT

AW 9T

N791T NN'X 0" T NIDOIN

2T RN DIIDT ' N2 7N N0 RDIT RMAOR 7''Ta [N T 2% 07

NP RNRT 2172 19277 RRDT DT RIPOYR ORTIT 2" 9oy "> anNn

WY I ITAT KON 10 2AK2 MW PR O7IST 21 910 2w nINaTY

RDWST 7o 2" awNns Spnw) B9 TR IRD RIPT R0 RDIRT MRS

XN KD SNORT 3190 2" "D NUBAR NYRR RY Jam 1a1T 0 1T onl

TTWR DAY MY PINTY D' 2y NIRTTD ROP NN 2RRD W
2T v

1) ®mx— o7 that 92 is 1w nx v

a) First 7"
i) 112 DMD NYAX2 NN 1P N IR 12 MYOR)

ii) Since the o°021 were called on2° nyax and not ATYox Nya it’s 21 that ond
wasn’t w11 these 0°021 from his father a1yox

iii) Must be that or1°s was 1nwx *021 w9 and the P09 teaches that 1wy wa Sv2
b) Second 7% — "R

1) .07 .17 ) PR DR TR 20

i) How did =°x> have o°021 that 21w didn’t have

iii) Must be that =°&> was 1wy 031 w1 and the P00 teaches that \nwx wa %32

2) XM

a) Xwp

i) Why are two o712 needed
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3)

4)

b)

d)

f)

9)

Rl

i) There is this x°wp to the first 7° — maybe the o°051 had belonged to nwx
71voR the mother of or1°0 — 71voR wasn’t w11 these o°021 because Hva is
not \nwX nX w1 and instead ono was wAr these o021 from his mother nwx
q1vox and the p1oo teaches that mx nx wa 12

Xowp

i) The same xwp applies to the second 7% — maybe the P00 teaches that 12
MR DR WY

'Rl

i) There’s no need for two 0°p109 to teach that X nXk w21 32 so it must be that
one oo teaches that Inwx nx v Hva

X°wp as explained by R"wann
i)  Why do you assume that the o>py0s teach vy °17 at all

i) onro and 2°x> might have been 713p the o°021 and the o°>105 mention the o°021
only mx17% the 7w of both onro and x

v N

i) if onro was np his o°021 they’d be %212 ann and ond wouldn’t have been
1237 his father 71v5x in o°031 that are 21°2

XOwp

i) Maybe ons took his 0°021 as o°»an 77w that isn’t 9212 NN

maoin

a)

Instead of asking the prm7 of o°nan 77w why doesn’t the X7na ask that possibly
both on1o and 7°%> were onxn w11 and the o°p105 mention their o°031 only nmxaa°
the “ww of both ond and

X"wAnn

a)

b)

TRY

i) When the & first asked that maybe the purpose of the o109 is 0wy mRn»
and not to teach van nui»

i) Why didn’t the & m3a suggest that maybe they took their o°021 by onri nwry
mawn

i) The x nx preferred the stronger x*wp that maybe they bought the a°051 and no
7w was involved altogether

i) But — once the X713 answered that this isn’t possible for orn1s because then the
0°021 would be %22 21 — in order to ask again that maybe the purpose of the
P09 is "owy mxanL" while at the same time avoiding the pm7 of oonn n7w —
Mmoo needs to suggest that they took the o°031 by ankn 7w
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"% axNa TR nIvoiIn

NT90972% "2 101 2R NRmR RNIPN 11D RNM2T 2T 11 90 IR 7'N2
19013 RINTT 1957 ROD 279 2R 29257 7 »''RT pIRTY v 9oy "o NPT
by AR AR NY7ID ROR RNIPN 723079 X7 RAR RDT 29725 3198127 799 NN
R2OR RI77 971 YRR KD 71 RIPT7 X900 2R Mwvn 'a nwaY 2°ns7 23
77975 K2R IR OIST ORIPY IIND 22 Mayd Ning nRIps b
TP TR RINT ORTIT B 2T0Y NIRTTY ORTP ONNT RDD 20T NP
AR N9IAY A RDIPN T7aYRR RO ONKRT YRWRT MUR 2 DWRtR XN
T 0991 "2 2300 KD @' "2 327 N2va N''DY 0T MARP RNPRT KRN0 RN
22'1I7Y IRPT RTINT 91 RDINT 1190 nRa Py
qYAPRD OIn TYOHR M Vo2
1) First anTpn — oopoo

a)  °12 W Yn? AWK DN AR N0 Nown TARD HRIWY 12 Mvnn 7901 WA N2 K
PMIAR NN VIR DRI

b) 5X7w» 2121727 1PMAR N2 DD WOR °D 701 DR Tunn HRIW° *137 7771 200 RO
C) DRIW’ %12 NIVR P27 NN WOR 9D IR VN AUAN 7701 20N KN
2) Second nnTpi

a) The word munn in the first p1oo teaches that the >0 of 2on RS deal with an qwx
who is a 7w na of ar nom as well as with an 7wx who is a w17 na of ark nom

3) Third 7P
a) noRw

i) How might there be 7%n1 nao if an nwx who is a 7wy na and is from 12180 vaw
is DRw°1 to a Hva from Pynw vaw

b) nawn
i) Either by 12 nao who will be of pnynw vaw and is w1 her 75m
i) Or by %va nao if Hva is wr her 75m
4) Fourth mnpn
a) PRy " in a ¥n*n2says

i) Since two o°»05 of 20n R can’t both teach a W% for 12 n2o it must be that one
P09 is a > for H¥a nao and proves that \nwxR NR WA Hy2

i) The xn>>12 brings another &1 that \1nwx nx WAy Sv2 from ones and x> — the
o°v1o of this &1 and of a X7 to this X1 (07wy Nk MXAY) aren’t relevant to
this X"wann

5) Fifth an7pn
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6)

7)

8)

a) xwp of xoo 1

i) Maybe the two o’ 0o» both deal with 72 nao and there’s no X0 because the
purpose of the oo is PIRY *1w2 15y M2v> — it follows that there’s no &
from the om0 that \nwx nx WA Sva

X713 as explained by >3 in mooIN
a) y1°n by »ax to the xwp of oo 2

i) The wp>i1 of munn teaches that the o100 deal with ok n%ma1 as well as with
2R Nom

i) The o°poo of 2on &Y teach that the nwx needs to undertake a certain xnipn to
avoid 2077 — for ox nona this xnapn applies only to ya nao

iii) So it must be that the o’p05 deal also with %¥a nao — this proves that wa %va
NWR DX

Twnn of MmooIn on the 7> of the kn°»12 as understood by »ax
a) Nwp

i) Maybe — despite the wp>r1 of munn — the o105 teach a xnipn only for ax noma
where the &nipn applies also to 12 n2o so there’s no proof that \nwR NX WA 2

b) v n

i) »ax can still rely on x1p7 810> to prove that one of the 0’109 must deal with
5¥2 nao and WK NR W Sy

X"wn
a) xwp to the qwni of noon

i) We’ve established that — unless we say that the o*»05 teach a xnipn also for
ox nom1 — both o°p109 can deal with 32 nao to be X% 2 2°m and there’s no
X0

i) And we’ve also established the o°»05 of on1s and can 7°X> don’t teach that
INWR WA Hva because the purpose of the o°p0s can be 0wy mRAA»
b) v
i) In fact the xn>>1a places its 7p°v reliance on "nwnn" to prove that the o°piod
provide for xnipn also for ox n%mn1 as we’ve explained

i) The qwna of mooin says xn? 7 k1L that even were mwnan no proof that the
oo also deals with ox noma there is some further support from a 710> —
although it’s subject to the X37°5 mentioned earlier

b AN |
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n7 praonT "1 0n"awn

AN ANDII RAPRAT "D Y J10a01nT 772 2''awnpa [2 TRy 29 7]
77279 5730 Doy "D J2INT VAW NN RAPOYAT 23 DY ORY "D Ry KD
TIANT NUAWR TART K239 779 1920127 A''7702 RBPIND TINNT KD N7
799 RO 1A DO 21 DaAR AN NDTI 2R RON RRINT RUawn 7RI
T2'197Y 10 RY ARR ANDI RRPWAT 2" 2w 11997 9057 IRDa

TIVI T'N2 NI9oINI DN N1 aA"a n"1n

Y 9257 D202 T 0P ORPR 2R KD ounps eRT o n" A" ' 2 'on
NV INDT 95D DY 712 2 AW WA N20 naRa B''op "o Byan naoa
1257 D202 K777 010 KDY 5Yan naoa 3921 3257 N202 192 110 11INT NINYNaT
NOIN 3P 91 D93 12577 1202 ROIN RPOD RO 073 KD 71091 yas nava RTmM
1257 D202 ROIN MARPT KT 3UT0 2R X DI KUK WA ' TN
1257 D20 MR ATV RTIAT PAWR KUK NP WIMINRT HYaT Nav2 NIM

:?'"N7Y Byan nava R

23 ®'"op "2 277 N2 AP R Do p'oT ma BMan et T 7''Ra
12 byan oY % 239PT 1257 D202 NAP ROPD KN20% AT 2'awn o
MN5T 7O NP D'YT 90 RNMAR RIND DAk RNN2 RIND RPIT 1T TR
M1 RTIAPAY B 10 BYan nava RYNR IR IN RPAP RIPR MRPTH X220
TN ROPD D WADRTD YRWR 277 Nada NAR RO nn p''ohT whnd
019757 170 IMRT TRT 7 R'e KD RNN2 RINT 212 Yyan nava v''oby
2'"'2w NDTUADY RNMAN2 RNM2 WMT D TR NN IRMAT 2RO
"RTY 2'"2WN NPT ITINSD AN RATY RUT WIN IRY 327 2777272 1790
BYan Nava 9% P RIAN RIP 9 NMRT 2IWNAT RNIN2 RIND DR
9 PIDNT INMY INT 2WH W 2" awn DY RIT MR IRY J27 210 KD
NNN2 RIND 9257 9195 19 NOR 1''57 XTI IRD 27 2R RNPRP RN

221977 HYaT NaAt® ONR 91 RTINY 2MWNAT 927 MRP RNDRT RN

1) First nnpn
a) 'N X7 — vun OR qunn
i) DRIW° °32 39270 PMAR NP2 NOMI2 WOR D 7un DR vnn DRI 2127 19m1 200 KD
b) "2 Rp — IR VA aVAn
1) DRIW° °32 MvK P27 INDNIA WOR OO NR 0RD 70K 17971 200 R
2) Second anTpi
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3)

4)

5)

6)

a) See the prior o>112°7 on the meanings of 12 nao and %va nao
Third 7P

i) two mn>a2 deal with whether 'x x9p and 'a x1p deal with 12 nao or Hva nao

'2 X2 'R RN>M2
2 XP 'R RIP "2 Xp 'R RIP
"R unb" | "nun HR qunn" "R guab" | "non DR gopn"
Yya 12 Sya 12 0"awn nuw
Sva 12 Hva Sva n'"y now

Fourth 27pn — '& ®n*12 according to o"awn

a) "1 x7p must deal with ya — at the beginning of the x*»10 the &3 hasn’t
determined why 'a x> must deal with ¥a nao but at X*»0 710 the xnx explains
that "anx" in 'a x7p implies Hva

b) 'x X7 must deal with 12 because otherwise it’s a X7n°
c) Note that

i) It can’t be that "X Xn>12 relies on a X120 that 'k X1 deals with 12 because if so
the Xn»92 wouldn’t have had to rely on a 810 to teach that 'k X9 deals with

12
'a Xn»M2 '} XN™2
2 X 'R RIP "2 X 'R R
"R aunR" | "nun HR qunn" "R aunb" | "non 9K nopn"
Sya 12 2°n571) Hva Y21 °K7) 12 o"aw now
(R (X0 XX
Sy 12 Sy Yya n" now

Fifth fn7pn — '& X092 according to N

a) '2 x7p must deal with ya — at the beginning of the x°x10 the X773 hasn’t
determined why "a x1p must deal with ¥a nao but at x°210 710 the X713 explains
that "anx" in "2 xp implies %ya

b) 'x xp also deals with Hva and we’re not concerned about X110

'a Xn»M2 'R RN™M2
"2 xp 'R RP "2 Xp 'R NP
"R gunR" | "hon OR unn" "anR qun?" | "non 9K qonn"
oy 72 2°n377) V2 5¥23°K7) 12 o"awn now
(R (R XK
oy 12 Pn3T) A | 'R RNM) Hva n" now
(nx | (RMnh won R

" 7270 — 2’002 for both 2"aws and N

1) '} X7p must deal with 12 based on a &720 explained by o"awn

ii) So '2 xp must deal with va because this xn>>72 is concerned with xn° even
for on 171

34



'2 Xn™12 'R RN>°M2

"2 RP 'R RIP "2 Xp 'R RIP

"R aunR" | "nun R nunn" "R aunR" | oo OX nopn"
122 °RT) ¥2 (X120) 12 2°n371) Hva Y¥23°K87) 12 0"2w" now

(X107 XX (R (X110° XX
'2 Xn™12) Hva (X1720) 12 PnoT) Y¥a | 'R RN™M2) 2 n" now

(x11n°% wrn (R | RINH OwIn R

7) R
a) Nwp

i) 9Y22'2 X K19V 01097 ynwn oxn"
b) v n
i) "nx"in'2 x7p implies Hva
8) Now

a) Both for 2"aw" and n"1 the x°wp of "ynwn *kn" can’t apply to 2 Xn>>72 since both
agree that 'a xn>92 knows that 'a X1 is 5v22 because x120n we know that xnp 8p
iS 122 so that "2 X1 must be Hv22 in order not to be a x>

b) The x>wp does apply to 'k xn>92
i) Fora"awn

(1) Because for o"awn we’ve proved that '& ¥n°>72 knows of no 8120 to decide
that 'x xp deals with 72 and that 'k xn>12 says '} &7p deals with 12 only
because it’s a X11n° since '2 X1p deals with H¥2 — so it’s correct to ask how
we know that 'a x1p is Hv22 and to answer that we know it from the nwnwn
of anx

i) forn"

(1) Because n"1 holds that 'x xn*>2 says that since 'a X1 deals with 5va it
follows that 'x x7p also deals with 5va — so it’s correct to ask how we
know that "2 x7p is H¥22 and to answer that we know this from the nwawn
of anx

9) mpooin part 1 as explained by x"w-nn
a) TP
i) Forn"
(1) we understand that the X3 couldn’t ask — 122 "X Xp RnHY 91397 ¥nwn X

(2) Because 'x Xn»12 says 'R X7p is ?¥22 and '2 Xn°>1a says & &P is 122 based
on a X120

b) xwp
i) But for o"awn

(2) I can accept that the x73 understands that '2 &n»92 says '® &7p iS 122
because of X120
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(2) but we’ve proved that 'k Xxn12 doesn’t accept that there’s a valid X120 to
apply '} X1p to 12 and — so long as the X3 doesn’t realize that '2 Xp
applies to Hva because of the mynwn of "nx" — we also have no proof that
'R X7p is a 10 that needs to be applied to 32

(3) so — at the same time that the X nax asks for '& xn>12 how do you know that
'2 X7 deals with Hva — the xna could also have asked how do you know
that 'x X7p deals with 12

10) mooin part 2 on mxox by o"awn and n"1 in the X713 — as explained by X"wann

a)

b)

d)

By way of nn7pn to the two min>>1a the Xna says "»van n20a X°1n 127 N202 XN —
for o"awn this means that each of the min>12 applies the first X9 to 327 nav and
the second x1p to ¥a nao — while for an 1°217 this means that '2 Xn*>92 says '8 &P
deals with 32 nao and 'x Xn>>2 says '® X1 deals with Hva nao

Note that

i) n"is o7 that the x7na then continues and says "7va nao2 &°an" to introduce
'} ®n*>12 that says 'R x1p deals with 9¥2 nao and to suggest that 'a &n»92
disagrees and says 'x X1 deals with 32 nao

ii) o"awn isn’t 071 that the xna continues with ">¥2 naoa x°1n" because for
o"awn both mn»n2 agree that 'a x1p — and only 'a &1p — deals with ¥ nao

Note also that

i) 2nanis o7 that the xma continues further and says 27 naoa x°an" to
introduce "2 Xn»12 because 'k &n**72 —unlike 2 ®kn»92 — deals only with 32 nao

i) But o"awn is o only "7k ®°1n" to introduce "2 ®n>>12 because '2 &n>>1a
agrees with 'x xn»92 that 'x x7p deals with 32

Note also that
i) The first Xxn>12 according to the X073 of a"awA says

(1) “va7 nao2 KHR K X 127 D202 MR AR — 72771 21097 127 202 'R ’p]"
™27 N202 ['R XIP] 2R IR 71 KT — AR 2¥27 1207 07 [12 KIP] IR XIwD

(2) Since it’s because a 870 that makes us decide that 'k P05 deals with 12
i) The first xn>12 according to the X073 of an 11°27 says

(1) —%vam n2o2 KOX K N 127 1202 IMIX DR — 1271 2IN27 127 1202 'R &)
"2 210577 HYAT 1202 07 [12 RIP] MR RITWD

(2) The &n>12 doesn’t say "0*pn "X 72 8" because 'R Xn*92 isn’t concerned
about xn> and applies both 'k X1p and '2 &p to Sva

iii) The second xn»92 both for a"aw" and an 11027 says

(1) —327 N202 KPR WK IR Y277 NADA MR INX — 12T 2107 P¥2An n2oa [2 xp]"
"9¥277 N202 [2 RIP] PR IR A7 KT — AR 127 D207 097 ['R RAP] N XITw

(2) Because o"awn and an 11°27 agree that 'a xn»92 holds that 'a x9p deals with
%va because of xn>
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11) R"wnn part 1
a) 7oRw
1) why doesn’t m»oIn agree with o"aw"
b) nawn
1) moown holds that it’s a pm7 to say that
(1) a n7pn that says "»va naoa X°an 32 n2o02 XN

(2) means that that the nin»92 agree that one & p deals with 32 nao and the
other deals with 5va nao

12) x"wnnn part 2
a) ™ and v"x
1) Agree with 2"awn nu>w and are "77°R X°1n" 071 as the 7»7p7 to "2 ’RN™M2
i) But hold that 'a xn»92 says that 'a x1p deals with ¥2 nao because it uses the

word "anx"
'2 Xn>™2 'R RN>M2
"2 RP 'R RIP "2 XP 'R RIP
"R gunR" | "hon OX qunn” "R qunR" | "aon OX qunn"
722 °RT) H¥a (x120) 12 2°n371) 9va Y¥33°K87) 12 2"2w" now
(XN XX (nx (X0 XX
'2 XN™12) Hva 72 2°n571) Hva 'R Xn*>72) Dya n" now
(XY wrn (nR | XD wn R
2°n57) Y¥a 2R 0" N
(nx
b) xwp

i) 'axn»n2says directly that 'a X1 deals with Hva nao because of a X0
C) y™n
i) 7"1and w"x" say that
(1) After the x n1 has explained that '® ®n>92 relies on the mynwn» of Anx
(2) the x73 holds that 'a xn>»92 sets out its X0 approach only Xn%°n7 &Xnm1>

AP T

I'mIN ATYA "7 27927 XN D1 XA

"D 9 932 RO AR PR TR O 9017 1Y RN [R Ty AP n7]
DIIDT N7 9P DIWDT RNIIM2 PIT IOD 907 PR opa KD 9T X002
SOMI 2T RWNT T 0 PT RDT 'Y WS nMY WK OnID 290172
N2OR 1'"77 9''RY OMID NWR DD NRIID MYHRY W 157 AT N0 RN
V2T AT 9 PITT ROTT AP 12 910 DVRWR RN TR RRPIRY
N7 971 D KD ©''7AT VYOR NWNKR NP2 ROR RAPIRD X2V "0 hm
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O''RT 2 RS 92X TIDTD AW INRY RNNNR 01D 2901 5177 O7ID 92A

2297 77 12

1) X at:x°p a7and .20p A7

2)

a) 1oRw

i) How do we know that \nwx war Hva
b) nawn

i) A poo says that 71voX was 112 0n1°s nyaxa NPl

ii) If 71vox didn’t have 2021 how did ond get to own 2°021

iii) Must be that \nwx w1 Hva and ons was wr these o°021 from his wife
c) Nwp

i) maybe 1nwX nX w7 1K Hya and the o021 came to ond from oo 77w
X here at .»p a7
a) oRw

i) How do we know that "prm17235 »X72 WK w71 1R Hya"
b) nawn

i) A oo says that "oy wHw DMWY 12 7 1R IR TN 20"

ii) If 21w didn’t own these 0°051 how did 2°X> get to own the o°021

iii) The Moo teaches that

(1) the o°oo1 had belonged to 2uw nwx the mother of 7x>

(2) 2mw wasn’t w11 these 0°021 because the °021 were »x1 and w2y 1°KR Hva
PTMINAD 1812 — instead 2 X° was w1 these a°021 from his mother

c) Nwp

i) Maybe °%> was w11 these o°031 from his wife and in fact "x92 nwr wa Hva
PTMN2d

d) y»n
i) ynw 8N
(1) 12 omd NY232 NI 1N2P7 NN TN 12 VIR

(2) Since the o021 were called or°s nyax and not AryoR Nyay it’s n7m that
onrs wasn’t w1 these o°oo1 from his father arvox

(3) Presumably the o°021 had belonged to 21v%& nwx the mother of on*s and
T1YPR wasn’t w1 these 0°051 because the o021 were »x7 and w271 1°X 52
PTMINAD *INN2

(4) Instead on°» was w1 these o°031 from his mother
e) Xwp
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i) Maybe

(1) Had the o021 belonged to Tryox nwx — 71vox would have been wr the
0°021 even if they were only »1x3 on her death

(2) But in this case the o°021 never belonged to 21vox nwx and instead onas
took the o021 as o°nn 77w

f) yrn

1) The reference to 112 on1s teaches that there was a 117 1°7 between on2°s and
S1y5% on who owned the o°021 and that or1°s was 73

i) now
(1) 2rvox would have had no nayv at all to take 1»an 77w that came to onas

(2) So it must be that the 770 17 involved a mavw by 1vox that he was wa
"% from his wife the mother of on1s and a 17 poo in favor of ons that a
5va isn’t "x1 wA from his wife and instead ona°o was w1y the o°023
from 21¥%K% nwx as her son

3) X"wann
a) First xowp

i) Why didn’t the & n3 apply the same y17°n at .2°p 77— namely that because of
the word 12 it couldn’t be that on1*s took the property as o 77w and it’s
n1on that oo was wa the o021 from his wife

b) v

1) The x>0 here deals with whether the o°021 came to ons from his mother or
from n1m and the y1°n is proper that only if the o°0o1 came from his mother
could there have been the 7110 17 between on»s and 19X — that’s implied by
the word 112 — on whether 21¥%& could be w1 these 02031 from his wife

ii) but at :x°p 77 the word "12" can’t prove that the 0°021 came to orn2°d from his
wife the 192 of 21¥%% because even if the o021 came from his wife there would
be no possible m1yv by 1Y% to be wa these o°o021 from 105>

c) Nwp

i) In the X210 here why doesn’t the &3 challenge the &3 from orr s in the same
way it challenges the &1 from 2°%> — namely that maybe on1s was w1 these
0°021 from his wife

d) yrrn
i) For the same reason:

il) the x7na realizes that the word 12 — and the 70 17 it implies — wouldn’t be
appropriate if the 0°021 came to ona from his own wife since 13%x would
have had no avv to be way the o°021 from 1>
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IN"NN 2" T NIDOIN

7Y 159D DIVIPRY "D 7N MWPRTAT TN RO A "1 1IN 1" 72 'on
190 1 MER 'R RO "D YRR KD 19T RO MR MARPT RYTT "D
PR RITOW NORD 772 372 2002 ROKR NN RIT WORT TRNTIN 79 OWPNRT
172 2302 IP2TY YA IINNNT 119D 1PATY R AR PNR 10 7 KD "D X7
SWPRT RIT YRR NI KD 02 1AM 27 BRI AR 10 PR R NIRD 7Y
3'"57 2R TR WORM R PRWHR KDT RUR 172 2900 WIR AN RTIADN
N7 DRW 7707 KDY R2AP 21052 322 1707 KD 1171 297 '0I1057 DD 0k RN
2B WY 1T WINM D YRR RPT KPR 19 WOR 7N RTIRYN WPNRT

'
1) opos
a) First p1oo
i) 27> PMAR N2 NOMIA WOR 0D 70 DR LR L. 1903 2100 R
b) Second pos
i) P27 NP2 WOR 2 NK ARk vk 7903 2100 R
2) X
a) the first mo» deals with 12 nao and the second s deals with 5¥2 nao — the
precise meanings of 12 n2o and %y2 nao aren’t relevant to this X"wn
b) noRw
i) how do we know that the second »o» deals with Hva nao
c) 7awn of the 1¥7n
i) because the second p1o» refers to v
d) xwp
i) But the first moo also refers to v
e) pPrx® 92 3am1 20
i) The second s deals with Hva nao because it mentions 1pa7°
f) xwp
i) the first po»o also mentions pa7
3) mooin
a) Xwp

i) Even if it’s possible that 0°»or were at times not Px°p2 in °p109 it’s still a Xowp
that pr¥> 92 1m1 21 didn’t know that 1227 appeared in the first p10o even
though he was obviously *pa in the first 105 given that he asked that wox
appeared in that m109
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b) y1nof 2"awn as explained by msoin and &"wAmn

i) The j¥7n who relied on w°x and prx> 92 111 27 who relied on a7 both
realized that both w°x and a7 are set out in the first P10

i) The 1310 said that the wox in the first ,1oo was reserved for another nwa7 while
X in the second poo was available to teach Sva nao

iii) pr¥> 92 11 21 asked n°k 71 to apply to the other nwa7 the wok in the first mod
instead of the w>x in the second oo

iv) And that’s why pr¥® 92 a1 21 said instead that 1227 in the first p1oo is
reserved for another 7wn7 while 1227 in the second oo was available for nao
Sva

V) The x23 then asked to prix» 92 yam1 27 the same X*wp of n°k1 7n: why do you
apply to the 127> in the first P10 to another nwa7 instead of applying the ypa7
in the second oo to the other w7

4) X"wan

a)

b)

X°wp to the 7%mn of o"awn

i) why didn’t pr¥> 92 113 21 realize that his A from 127> would be 71917 based
on the same mvv of n°X7 7n that prxs 92 3m1 27 used to be 791 the "R of the
XN

'aRls!

i) P> 92 7M1 21 wasn’t aware of the X°wp of the X that wox appears in both
agrhleh)

WP

i) Then why doesn’t prix® 92 am1 27 rely on wx

laRiy

i) Because to prx> 12 1M1 21 the word "wR" doesn’t imply %¥2
Ripon of R"wann

i) If 1m1 27 wasn’t aware that of the X*wp of the X3 that wx appears in both
o°p10o there is no proof that he was >pa in the first po0 at all

i) So say more simply that prix> 92 1113 21 relied on 27> in the second 05
because he wasn’t *pa in the first P09

iii) And even though he was *p2 in the second 105 he didn’t rely on w°X in the
second oo because he held that " X" doesn’t imply 7v2

1Ioni "' T NO0IN

9 By "D N R 7D 32 927 717 20 "o A '

ST QLAY QT
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oD A n"Tn"awn

2OWNT 779992 101519 AT "D wWInIw '3 17''72 2''awnpa [2 TRy P 7]
QIR RWOWD T NITD ORNAT 19992 101011 WIBR Y By "D vy wTe
AR BN DD T TP AORT TOUITY NN O'NWR Dk avun

t9'"™Y NIDDIN TP PIDD TR

See the xx0 of 17 7wyl v PR

w'pn 2" T NIDoIn

SOy 13 NIR 9127 YRR KD IR wNR ''RT 19 wepn 172 'own
IR DRI T PR KDY 2BR WA 5"V P 907° XD NINN %137 2w
15 327 N2Y [1377] (N27) 2% AN 2N 12 A0 W KD TwINY SRl T

1)

2)

3)

4)

5)

191y PR 1D ST TR ONTT NN 12 YRR 1R
First 7n7pn
a) M>n1 970 mentioned in M7 MWD — AR AR AR 2R N2 12
Second nnTpn — see ar 1 PR "7 at .np A7 on the following
a) o7 of wwawn in general
b) wawn to 1977 *x¥y of Nk 12 and i na
c) aw by nni mink 212 by way of winwn from nni ax to 1507 Ry
Third nnTpi

a) The o7 of wawn are derived from 1% PR — namely if a 2179 who is "% to be w7
has already died the nn7 °021 are w»wnn» in the 12p of the 217p and go from the 217p
to 19777 *x¥Y — if that 217 has no 1277 *x¥Y the next 217y in the m»na 770 becomes
"X to be wA the nni 021 and if he has already died the nn»i 033 are wnwnn in the
12p of that 217p and go from that 217p to 1299 >Ry

Rapiab}
a) oRw

i) mom 970 says directly only that ni 32 is o7 to nnn n2

i) How do we know that nian nnR 32 has 72°7p over ninn minx n2
b) nawn

1) AR IWIh I e wopn
n"aw" as explained by mooin

a) nnwrn v refers to nn nay nian 12 (who are mentioned first in mma 170) who
have already died and 22p2 are nni 021 W to their 19777 "X — 1w 7w refers
to nnn X (who is mentioned in m%m1 970 after 12 and na) who has already died and
722 IS N1 021 WA to his own 12777 SRXY
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b) The wp>n teaches that

i) Just as in WD 7w — where a 12 died previously the 1277 12 is 127 n2% o1p -
and where a na died previously —the na7 72 is na7 n2% amp

ii) In the same way in "1 nw1 — where an nix died previously the nxn 12 is amp
nX7 na? —and where an minx died previously —the nmnR: 32 is MINRT N2% 7P

6) mooin as explained by x"wann
a) Nwp

i) a"awnis right that this wp>i7 can compare 32 and na of n»w nx to 12 and na of
nnw 12 because both 12 and nx are listed in m%m1 970

il) But this wpn can’t be used to compare 32 and n2 of an nnw M to 12 and na
of a nnnw na since the 7wy of 12 and na and nx is listed in m>mn1 770 while the
7wy of minR isn’t listed in nYom1 770 and is itself based only on wnwn from
N AR

b) y1nas explained by R"wann
1) This is what the X3 means by "1 nnwsa awe

(1) nnwx awye means w1 by nian 12 and i na who are alive when the nin
dies — this v proceeds directly from the n%n1 270 without winwn

(2) "1 7w means 19> *R¥Y of N1 312 who are w by winwn as 770 *xx of 12
and n2 who have already died or as 77 *x¥1 of another 217 who has died
and would otherwise be next in line for 7wy based on the m%m1 270
without wnwn — note that this includes mnx 32 and MnR na who are waY by
Wawn as 12°7° °KkxY of N7 ark when there are no surviving nn»i 32 or nan N2
or 197 *R¥Y and n»i7 2R has already died

i) The wp>i1 teaches that in all mwy7 of 19°7° k¥ by winwn a 12 is n2% omp the
same as N2> a7y J2 in ANWwRY 7w where there is no wawn

10202¥ ‘A " T 0"awn X 770 T WY TV 'RT X'AIO
1) First 592
a) 199277 PYnnn PR
2) Second %93
a) An "7unn " is a person who was 7°yn on an event
b) An "nx117 7" means a person who saw an event but isn’t an 7vnn 7y
3) Third 595
a) o"awn
i) aperson who is 7°¥n2 120 counts the same as an Tynn v
b) "
i) A person who is 712 13201 doesn’t count as an TR Y
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4) Fourth 593
a) Ifan myni v is 7ynb Moo then all other o>7v are also %109 based on the 59> that
"7210 7902 ANXPn vaw MY
5) Fifth 595 — 17 nwva v PR
a) An 71°yn7 7Y can’t be a 1°7 even to be my Hapn from others
6) Sixth %92
a) A person who sees an event by day who isn’t an 71 7
i) can be a7 and can be n17v %apn from others
i) And — based on ">} 79173 YW X0 &5 can also be 17 based on what he
himself saw because what he saw was as a 7>7 and not as an 7¥ so there isn’t
the xmy> of 17 Wyl v PR
7) Seventh 593
a) A person who sees an event at night who isn’t an 7°yn77 7v can be a 77 to be 9apn
nm7v from others
b) But he can’t rely on "X 79173 "y nw Xan X>" to be 17 based on what he himself
saw because 12°72 17 7°2°1nn PR S0 he acted as an 7v and not as a 1°°7 and there is
a xmy» of 17 7wyl T PR
8) o"awn at w3 a"7
a) 0"awn compares a person who is an 7v»i1 7v to a person who sees an event at
night
9) X"wnmn at w1 "7
a) The comparison isn’t exact because a person who sees an event at night can be a
17 to be m7v %2pn from others while an 7v»7 7v can’t become a 7°°7 even to be
M7y 2apn from others
TR 7

n7'72 7ax 2" T NIDOIN A 77N T WY TV |'NT XAIO

N2 1TINT 2752 79D 00 MIRPAR PRI 19 79992 Dar 1772 [R Ty TR 7]
RNDY WIS 1A RO D' Har 2''awn awa Y9N 27275 1anD N2 B''oy
"W MR PR RNWTT 2N 1T 77002 IRTN DY PN TS PIoNNT

1)

2211979 112 1115w N1 KD INBR N0 D
TnTPn to a Xowp by moown to o"awn
a) mwn in mwn wRY ndon as understood by the xnr mi1 of the xanma
i) If 12 nwnw 1280 saw the wnin by day or at night
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2)

3)

ii) "% may form a three-person 7"2 with 1oww 777° to be apn the M7y of j2187
NP

b) X
i) Xwp

(1) if they saw the wmin by day why can’t »¥21 1"wnw 3281 act as o°1°>7 and be
wpn based on their own X1 because X7 77173 v 7AW Ran RHW

mooIn — Xwp to 0"awn
a) Nwp to o"awn

i) Why didn’t the X123 answer that 121 1wnaw 12187 were 7vi% 11onn with the
result for o"aw" that each counts as an 7°yni 7

b) v n

i) We’ve already established that an 7°yn77 7 is ¥7a relative to a person who sees
an event at night — in that an v 79 can’t be a 7 even to be nmy 9apn from
others

i) So if " nynw 12387 were 1y 1507 then ™% couldn’t be M7y 22pn from
VAW 121X

X"wAnn

a) mooin previously noted the n7pa that 7vian 7v is y7a relative to a person who sees
an event at night

b) mooin repeats the 71 here to show that the 77p1 answers a x*wp that would
otherwise apply to o"awn

N NIXT T"N2 NID0IN "A 770 |''T AWV TV |'XT X'AIO

D RO N2 WYY I MRPT R TWAY MWNANI AR "2 PR 7''NPRT 7''R2
N25Y2 5799872 90157 [201° %] 3" % 2o 9207 K2R TP AN AN
ST IINTT PINW 29D 2" 13N 10 10 5711 9" ARPT N7 RRP NN

;21T TOUTD IIONI KD AR TOUITY N2 AR Rrnh KDY 9a0b han "oy

1)

2)

nnTpn to the qwni of mooin

a) mwn in Mon noon at .1 a7 as understood by o"aw" in a case of TR RW PR "W
WOIT DR AW

i) °0P ' — 1902 0210 MTY 2109 I 2P 170 TR KX

ii) "2 as explained by xa1 in the & na there — the first nx is m7y% 700 only if the
second X is 7°¥7% 10NN

b) The n5%7 follows a1
Twnn of mpoIn
a) Nwpto°"
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i) Once the & na establishes that 7°v:3% 1501 counts the same as 7°vnn 7v for
"9 17702 anxpn ahvaw M7y — it follows that 7va% 11ann also counts as v
7ynn for the rule that 17wyl v PR

b) yynof >" as explained by X"wann

i) 27 agrees that the m7v of the first nx is 109 only if the second nx is actually
YN

i) "21 teaches only that before the first nix is 7°v» we ask the second nix whether
he’s 7177 1onn and if he answers no we’re not wwin that he’ll be °yn
afterwards and be %019 the m17y of the first nx

I'"T AWV TV 'R Q" TN T 270 " T AWy TV |'NT X210

5o "2 PWIAT P''E2 MoMTS U7 WY 312972 Par "o 7Y PRY "2
PD Bar [1997] 7Y TP 3129727 1205 57K 11997 M12IN0Y YRR anMRA
IDIATS T TRV IRIT TV DaAR TOWRT TV RPITY PN 30 1N N7
NRT aWR ORT R0ATY TR WRRY "'y RSy "o PunT p''ea
WL P92 IR A WIS SININT TV DA TR TV RPIT RNMINT2
WM WITPR M7 ANT JARTD PIDD 2N ITWIWS ava P
PR 21T MMRPT RITT PAYRAR TINN 0 YA R RNDR TIT RNPINT
ST TIORT STRITA TYORW NN NDT 29100 14T 7T

1) xm

a) 77 TWIWIRT MITY DTN PAND 1R A2I07 IR P22 10101 '
2) mooinat U7 awyl Ty PRI "7

a) There are several n»xn that "107 nwva vnn 7v R" applies only Xn» K7 172
3) X"wann

a) w"x"relies on the same n1°X" to prove that the 127 in 't 995 applies even 172
Xn»7x7 namely that

i) A person who sees an event at night who isn’t an 7°vy»77 7v can be a 7 to be
M7y 92pn from others

ii) But he can’t rely on "X 79173 nyonw &an 82" to be 17 based on what he
himself saw because 7772 17 12’ X so he acted as an 7v and not as a 17
and there is a Xmy>7 of 17 Wyl W PR

4) X"wan
a) Xwpto "R

i) our xx10 deals with o°021 p12°1 that is a Xxn>%7 17 and says that 17 Pww 137 if
they’re not 7°¥yni TV

i) why doesn’t w"x" rely on our X310
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b) y»n

i) From our xx10 we only know that 22 axym 7w (for °"'1 even 7vi% P1onnwd)
can become a 7>>7 even to rely on what he himself saw based on v°»w &an &>
R TNTA

ii) w"x" still needs proof that if an nx117 7v sees an event at night — where &5
RN 173 nynw ’an doesn’t apply — he can still even xn»x72 be a 1°°7 to be
M7y 22pn from others

iii) For this proof w"x" relies on the &1 that Mmoo brings from the k73 in noon
mwn wiA discussed earlier that deals with w7ni wyrp that’s Xxn»Ix7 and holds
that "% is N7y Sapn from Ny 1287

T QT

QYN N NN

Rvwp 7997 [2"29] (2"2w=sw) T "2 TR R a''Ta [2 Ty TP 0T
Y2YMODY RT3 172 PN R ORAR 'R 0oy o MNRwT 2wn byaa b
YPDT 99 PIDON 2P ROTRWD WY Byan PRT OmIdn nvwmab 0 b
BYAT NN 97 BY NIIRW YPDYDT RWIWD IDUT DRI NN 9T DY NIINY
NN®2 RSN NN PPD2 IRY 2''Y7 2'Yan "D RUIIN MY NOWR DWW 1N
N257 3399K 9277 DR "' ¥an pUD2 RNORTS NINRY YPD KD NN RIS RIT
12'1YTY M2Pa RIS WO BYaT IRT

5o "2 RIS TR N 2 10 AR W7 23 DY AR 12 M RS 7''RA
RTINS TRNYY 257 "202 RIS AR 21 127 1190 ROSIR RN PIRTY W
ST IORT 23 DY AN 2P RIS waY Dya2a 1" "o manh napa
722 572077 NI RODIR 7792 RMO1 91 NRW 9% D''DT RWIPITY 92pa NS
Boph "' 9521 12 Bran AR N2apa RIS AN WA 257 7 Dyaa KN
tPIYTY RO TN NNYAAR DYAT NN NIRY YPD DuT
1) X partl
a) Rw™M
1) D2p2 WK DR WA HYan PR
b) w90
1) 92p2 ¥R DR WA 120 PR
2) X part 2
a) "mnR"in the 90 is &7 to "NWR" in the Xy
3) ao"awn
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4)

5)

6)

a) The xw™ means

i) "2p2 XO\Wws WK DX WA Hva7 PR meaning that 5y2 isn’t WA in INWRK 2003
that are X2 »x1 after her iin°n when she is 72pa

b) The &0 means

1) 92p2 R¥TWD ¥R DR W 127 PR meaning that ax who died after 32 isn’t w>n
her 0°021 to him 22p2 to pass on to his ax:7 1 owr

moaon
a) Nwp to o"awn

1) if the xwn deals with 122 ®>w> then the X5°0 must also deal with 22p2 Xnw>
and the result wouldn’t be correct because the 17 is that 12 is X°7w> 1R DR WY
1272 — namely 12 who’s alive at ¥ak nna is 1K *001 w1 that are 827 »X1 after
her inon

b) nvw of 2"
i) Both the X~ and the xo°0 deal with 12pa x1Ww>
i) And by "xw>77 X117 89°0" the Xn3 means that

(1) Just as the xw teaches 12pa xywo — namely that Hva who has died and is
722 before ynwX nnon isn’t WA the o°021 of "\nwx and this is a mwws
because the 7w by %2 of \nwx 051 is based on maRw and MR is ypd
by %vai nnan

(2) In the same way the xo°0 teaches 22p2 X17w> — namely ok who died after 12
isn’t w1 her 0°021 to him 22p2 to pass on to his ax:7 1 owAr

Twnn of mooin as explained in the xipon of X"wann at nws an "y
a) xwpof " to 0"

i) At .»p a7 the Xnaa derives from o°p10o involving ons that nwx war Hva pR"
"P1mnad Mx0a — and still in k2> 5y ka7 pao the xs says that even after nnon
nwX the 7wk counts as "IRw" because M KRw isn’t ¥po by her anon

ii) So it must be that m=Xw isn’t relevant to \nwx» Hv2 N1 and the 17 of the
XY™ can’t be based on "M Rw ypa" by Hva nnon

b) 10 to the nvw of 2"
i) Inwxn Pyan nwr s in fact based on mxw

(1) mexw is ypo by Hva nnon and that’s why the X1 holds that w11 Hva7 Pr"
""2p2 RIWD INWR

(2) mrw isn’t ¥po by nwk nn°» and that’s why or2°97 °X1p are needed to say
that still Prmn23 *IX72 MWK WA 52 PR

Twnn of mooin — nww of *"
a) 10"2" is correct that the x> and x5°0 both deal with "22p2 &7ws"
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b) But —unlike 0"2>7 — the Xw»1 that says there’s no w1 by 12pa Xwd Hva isn’t
based on mxw ¥po — but is instead based on there being 12p2 wyawn only for
7w that’s based on m2°7p — as in the P10 of 17 P 12 from which winwn is
derived

7) Twnn of moown — nww of R"awn
a) This is the naw-w of the 2>711»° in the X

i) The 17 for 12pa Xoawo MWK WA H¥27 PR — that Hva isn’t Prmnad MRN2 v — s
derived from on1°o and teaches that there is no 12pa wyawn for awr that’s
based on mxw

i) That there is no wyawn for mxw in turn teaches the 17 in the x> that Px
722 RITWD MWK W HYan

iii) by way of "x>m7" this in turn teaches the 1>7 in the Xo°0 that MR nX w7 127 PR
N2p2 RIWD

iv) and it doesn’t matter that 222 K7W MR WA 12
b) xwp

i)  Why is there this "x»»17" at all to 32 and ox — after all based on 1> Px 12 there is
a wwn 17 for mwr between 12 and ox

c) y™n
i) In naw on po the Xna says that the "x 17" of 12 to Hva is based on o°p1os
8) X"wamn at 1 RO 7R3
a) Xwp why doesn’t the X instead follow this naw-w of o1

i) Since "apa Ronwo MR WA 12" by winwn it follows also that xiwa MR w12
n2ap2 by wnwn

i) Based on the X*m7 in naw °» 7o this in turn teaches that 1wk nx w1 Hva
N2p2 RIWD

iii) And it doesn’t matter that 922 X>7w2 INWR DX WA Hya PR
b) v

i) We established that mxw is more easily vps by Hva nnon than by 7w nnon —
that’s why it’s 72non that since for Hva there’s no 12pa Xonwa nwit’s a 9
10w that for Sva there’s no 12p2 XIWD AW

i) The mwi between 12 and ax are based on m2*7p and not on M Rw — and
there’s no 12w 93 to be nnTn the case of 12p2 X177 t0 NP2 X7

DXN NLUN QX A" TN

9T 7PN K 19 BN WO TWRT 2RT PRWD DRT TIPY 1D un ax 7''7a
S21PY NWRWR 9N IR TWRT O3 PRWIT MY 1D R 8 50w "o
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DR NIINTT TN DI AR 1D ANT O21PR DA VI PRWRT aR?
1B ''mY TN 2D

A0 T

n71v7 2" 711 |77 Xan1 AT 0"awn

R2Y MR AR WINT INPTD 12 3707 RiM 7''72 2" awnna [R TRy wp 0T
M7 RIA D AR DR WINTY PINNRR YD RTIADN P97 907 B''oy "o nan
17O 2R 32 17957 920 MR T PR 20K RN aw oA 2" awnss "o "' nY
N1 R7772 RN9922 WHIDAT NINR 2127 MINRY 7799 RN PRYRRR RT7TIA9N

2T PR NNaa

NIVR RY 21055 XY 12 JOPIRRKRY 19DIA0 ORT 12 mwn w7 akwb 1''7a
NPT DIV TOVRON INTY RITT 99 293277 JR 127 9oy "o a''n R
PRT 7277 DN ORI RWIPT ONT 921 KA NN AN 20212 N2d a7y 12T
(@'Y TR NPT
1) First nnTpn
a) TWR? TN AR TR DROwnn TR ORI 12 Mvnn 7203 DT N2 9
2) Second TP
a) mwn at.np a7
1) MR DR DM WOR
i) onk MR 7omI NI °12
iii) 732 N DA AWK PR
3) Third mn7pa — % X002 at .xop 97 — X012 to the mawn on "k nR Hma woRn"
a) Nnp XN

i) WX nR M1 wora because mvnn refers to ax non1 and ax nom1 — the precise 7>
isn’t relevant here

ii) and by wp i of ox 1un to ax vl — mwan teaches that ox *0512 na% omp 12 the
same as 2K °0312 N2> a7IP 12

b) 2x¥pi 32 ™ot
1) OX 012 MW N7 TMRY 127 IR because he’s not w7 the wp i of munn
4) xmxat:p AT

a) The mawn relies on the wpi of mwan to teach that ox *0212 N2% o7p 12 the same as
2X 0312 N2% 7P 12 as explained by 'k xn>12
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5)

6)

7)

8)

9)

b) The niwn says that nwx isn’t 7732 nwY because the miwn agrees with 2xpn 12 131 '™
and isn’t w17 the wp of muonn

'2 Xn»72 at vp 77 — MRea to the mawn on "nynk 1"

a) The mwn teaches "nMIAR M2 X1 NIAXR °12" to be NIAR °12 o7Pn to MINR N2
b) The mawn relies for this 17 on the wp»i7 of munn

Twnn of the X at .wp a7

a) Xwp of qwa1 iy as explained by o"awA

i) Either the mawn is w7 the wpon of muwnn as in 'R xn>>12 to hold that na% omp 12
ax °0212 in which case the 17 should be that 712 nw=y nwK since on wp°7 PR
i eatal

i) Or the mwn isn’t w7 the wpn of munn and that’s why 712 DR DAY AR TUK —
- in which case it’s a X>wp why the mawn holds that ox °0512 n2% o7p 12

R"wamn at 7707 xam 'y
a) oRw

1) Why does o"awn say that in the x>wp of qwo1 fnn the X713 relies on 'R kn»71 to
prove that the mawn is w7 the wp i of munn

i) while the & nx here earlier relies on 'a xn»92 to prove that 7127 are w17 the
wpi1 of monn

b) the &3 prefers to rely on 'a &xn>>12 because 'a Xn>>12 says &>772 that nInR N2 R
Twnn of the X723 — y17on to the x°wp of "qwa1 nn"

a) Although the mwn is w7 the w1 of muvnn still a vy n from the a"n of mwvnn
teaches that 7wy isn’t 732 WY

n"awA
a) Nwp
i) The o"n is needed 51> to teach that an nwx may not be nxw»1 into another vaw
if she’ll be 0°021 nw from either ax 7vn or ar 7vn
b) v

i) The o"nisn’t needed 51> because the p105 could have arrived at the same
result without saying munn and the o"» altogether — the precise o°v"» of this
717°n aren’t relevant to this R"wAmn

10) X"wonn at owo "y

a) Xwp

i) But if there were no nmunn at all we wouldn’t have had the wp*i7 we need to
teach that ox: °0012 n2% 7P 12

i) And once we rely on the wp>11 for this purpose then the o"» is needed "% and
can’t be used as a V¥°» to teach that 712 nx nwAY awk PR and it follows that —
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based on 7gmn? wp i1 X — the ®wp of the X3 remains that we ought to rely
on the wp11 of munn to teach that 712 nway nwx

a0 2 a"T1n

2729 923 29125 2%12 7137 KT A8 0" "o {327} nam 32 a7 'oan
TOUROR PR NIDDINT 120D 212 PIYD N2 vax Bpd Dar B''oy "o hmin
D N2Y 32 212 PAYDTA RPN YRR XD naa 790 RMIT 210 1T XA

19" ™Y DAy ARTD 70 7T

SRR 212 PIYDT B oY 10 apy 212K IR IR AP0 K77 21N 7''Na
N7 OR7TY 7971 923 AR BOph »0nTo AR 1 KDY AR 32 OR NT WA
DB mY ARYR WA 3T 27N PRT TN IR 9!

107 7

TXD N0 AT D"avwn

199577 132K MIRY NI 2NN 11D 7R K7 772 2" awana [2 Ty up 07
RI7 290 2R PR MBRT 772 DwhIR anow a2 'Oy "2 177 10T
AR INTIT 20 MWDK PaAR ARDNRD PINI INT 790 WARP 927 N2 KT PINT
ARIORY INT MVTT AN MR ANTT AR 2" DR DY PAKRD PATIR MARIY
N7 92 9729 NPT DY 1Y 20012 DRYAWS 2TNaANR2 KA N2 0T ROV 1T

"7 7o {2"awn} e

NaY ™' 2" Th

NI RY Doy "D TWETY AR DY 1Y N2 1" "o Naw Tabn ''Ta 'own
TIVT N'DY 7R PR JIWAX N2 IV N2 XOP ORTAT P RPR K7 0T
AR DY N2 7730 77A2990R DY A1 ORP 1IYaR naT whnh v RUN 197 ARl
IV NWR NS Y NIYAR Raw wHdDR @A YWD 1w o w1
?aD2 "OINT WP 10 WRITAR WY 1D ROWPT 2R WHRY "D
N2 2R DaR 112 WK J2 RIPI IOW 21PN 22 WIRH ROT IR 2R
PYaX 32 25 {7} RPIT X1 N7 SN R R By {pwax) ()
2No%® D' RY NINTAR 21 IND IR 17O 2320 37 977 2%1a N1aT awn
2WIONY 9572 2125 T YT 212 23127 NPT 1207 Prax {12} (n2) n(n)nw
K% 2"'R7T "1 ap 1R 79T 1090 HY K2 0w RRIRT 'R Twpnw o
RO MR DY PIYaR X2 2K AR 12 X9 WK WK J27 YA 12 K9P T
anow BT TPOYAY Q%A T NN Q%12 N1aT 2R YR 12 23 RIpIT
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ROR RP1T IRD AR 7028 NRR D207 anD "0 MR DY Iy Raw neoInT
AR DY YRR K27 DT RIAT RIT PWMT RYN 2P 5Oy "D AN nwN
YW NWR CVARD AR MR DY IV R2T NI MRP wWRn MR T
NATAR TN A1 JIWIAWRY 20320 37 9T 2%2 %12 'Y 1IVAXR N2 NROPN
TR2ODIR IR 19ORDY PIYAR 23 9P K2 7207 AR HY TIY Naw 72 onw
N2 "25w YW NWKR2 DRRpna ahpbpm P9INT RN RN 21w Pan
2797 KD 1Y RPAIMTIN2 RNORTD PIAN 571047 799N IDION 25 70 712 vaxs
"
1) mnpa
a) nn7 ' 72 and his 12> *rx are Hma together with nia7 2 12
b) It follows that 112 na and 112 32 of a ni share with n»n7 °12
2) "R
a) o°pod
1) 739 NYARY DWW Y00 PORT 22w T YR °1a 9K
i) 7397 PR(Y) 72K °12 779K
b) xwp
1) Once the first ;o5 says that 17vax and 71y were sons of yw
i) how could the second s say that may was the son of 1wax
C) mawn
1) " TR YWY NWR MR Y Nvax Raw 7nhn"

YW NWR |«

YW

A 4

v ~Nvax

iy

il) so that 72y was 112 32 of =°yw and 112 of nwax and was called 2°yw 12 only
because 0°125 37 °77 0°32 °12

iii) the p1oo refers to him as one of the yaxn »aw» to teach that as 112 32 he was 5m
from >yw the same as yw °12 22101 1012

3) X"wann
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a) Nwp
i)  Why does the X3 need to say that vax 5y X2 1wax

i1) say more simply that 1wax was 2°vw 12 and 71y was 71w2x 12 from another wx
and 71y was called 2yw 12 because 212> 37 77 012 °12

b) v

i) Since the %95 of o°322 371 >777 0732 °12 is well known it must be that the pioo
teaches that 71y was wnn 732 of 2 yw nwk as well as 712 32 and was a “mmn

4) mooin

a) Nwp
i) From what we’ve said so far we know that 3277 32 is w1 together with 32
i) But how do we know that 3277 n3 has the same nn*7p as 12

b) yyvnof oniran
i) based on the p1oo: "Nwax na my na an2vHaR"
i) which presumably means i2°%a% was 71y n2 and 71y was 1wax na
iii) it must be that 71y was a 72°p1 and 71y was 1Wwax n2 — not 1wax j2 — as in this

diagram
YW NWR | €
Az
A 4
v ~Nvax

(1201 M

\ 4

nHIR

iV) so we’ve proved that 2°ww 5w 112 N2 71w was nwar with 73w 12 72w 1017
5) Twnn of maoin
a) Nwp to an11°2n as explained by &"wnmn

i) You have no proof that 71y was a 12°p1 because maybe their relationship was
as in the following diagram based on *"wn in wmna wi7D:
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VYW AWR [E——
YW

nyax

PrfamEb et o

i) Where m1v is a 721 and when the 109 says 11wax na 71y n2 722908 the oo
doesn’t mean that 573p was 1Wwax na and instead means that 572%8 was 71y na

and also 1vax nwx na

iii) Because AR 2y 71y X2 11337 72V 73mn 109N MR DY 1IWAN Raw K37 WART 0% 00"
"IR9IR 730 T

iv) And since n1y was a 121 you have no &3 on the nn>7p of 127 na
b) y1n

i) Then »2°%7X shouldn’t have counted as 17v2% n2a
c) Nwp

i) Maybe she was called 1wax na because n112> 377 °977 0°32 M2 the same as "2
0°125 377 °77 0712

6) S"wann
a) Nwp

i) To ask that 71y might have been a 731 why wasn’t it enough for m»oin to
suggest that 7n2°%7K% 723 w2 nwR Hv X2 7w — why did nmoon need to add
that this 1wax nxx was 71y 5w & and that 1y 5y 82 m1v

Vv

\

NI NWR 1YY

N |

aNHAR [[911 71w

b) v n
i) Moo isn’t P72 and means only that nyax nwx 5y 82 "y

7) R"wann
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a) xwp on the yy1°n of "wamn

i) moownis in fact p>>7a that wnan 1R HY X2 7Y because we’ve seen that Moo
says that

i) 737 93 MR DY 71V K2 01007 7Y 37 TN MR DY 1IWAR RAW RI7 MKRT D0 0"
"702°90R

b) yy°n of X"wann to the ®owp of 2"wonn — similar to what X"wonn said earlier in this
11207

i) The %> that n125 377 >3 212 N2 is well known and since the pos finds it
necessary to say that nn2°%ax was 1Wwag na m1v n2 it must be that the oo
teaches that

(1) may was a ran and an2°%aR was a nanan

(2) And nn2°%nx was a wnn nato
(@) ~yw nwx who was also 1wax nwx — and that 71y 1nan 29m wag »Hy X2
(b) as well as to 1y who was 1wax 12

ii) Besides: 2p2pna m9pop0 PN
(1) since we’ve already proved that °yw nwR v X2 1wy
(2) and xmnan waTn says 19°7x% was also %y &2 and their daughter was vaan
8) Twnn of X"wn
a) Nwp

i) °"wnin wan actually has the following 21 that’s different from the 21°% that
Mmoo brought earlier in the name of >"wA

Vv

nyax

\ 4
IV NWR [[91] mv

familr i

ii) where 1n%3 %y X2 1wag who was the wife of his son 71y and who gave birth to
MO

iii) Why didn’t mso1n accept this v w of »"wn and use it to ask how our &1
proves that 71y was a 172°p1

b) y»n

56



i) Although this nu>w does explain why mn2°%ax is 17w2% na

ii) It doesn’t explain why 7m2°%7x is called 71y na instead of 71y nwx na

i) since a child isn’t referred as the son or daughter of his or her stepfather
c) this yy1°n also answers the following &>wp of 0"x3 (>nm ¥R ')

1) Nowp

(1) Why not propose this structure to explain how 1y was both the son of
7°yw and the stepson of 1yax

/ BRI
A 4

WY HW INHI MY NWR nYaY

oy

d) y»n
1) It’s correct that this nv*w would explain why 71y was 2w 32

i) But —since we’ve already established that a person’s stepfather doesn’t count
as his father — it wouldn’t explain why n1y was called 1vax 32

TOR Q7

"7 NN TPT XD XN

HTAINTR 9577 TR KRYT N7 79297 KT 07T X7 XS [K 7Y t0p 07
SWATITIR LT029 MONT SMAwN DM MY TURT SRMR J15R0T 2R
13" 2

AT 2y D "1 NnIvoIn

A ROR D NS 23007 R 1702 TR Yonya "D 7 By v ''7a 'own
NODY 2 RIPT ROT 1792 TUIAW 19RYA 1792 RS RY DY 119021 5w
ey "D

I"'TANI A" T NIDOIN X 77N 7TXW! YAXNT NX1AIO

"2 2%2 MW Y 2R RER 27N "D P 772 [R Ty R n7]
M RD IPORT 7772 2''RNT 90 By "o am7ian van® Prvnaws Xnw
Y2 RAWT AR 19 IR WP 1R 10 "D o1an TR 2T AN DRR KON Tem
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S127% 2ONITD 2°12 "2 WY PP 'S 2 NS "D 2aR AR RIW A0
By Y2 2IMWY 2127 I 212 1w I TAN 32 7T 2012 NI INIRDY 2wy
QIR INTOWS "D 912 2ONMD 221277 '22 IR IRT 71N FTINDD WD
QINRN IRIY PIAD IPRN TOINR TDIRT 1927 7102 YW and b 2N
2912 "7 DWW 2rOnMIanT 3190 RIT 1D 29790 1 2 77 R PRUI 1T KD
?9 2PIawa 219D PHYYI 1T KD 30 N 2IRRR INIOWD 2P 912 1977 KD
27279 FINT2 D"'YY TR PT0AN AR Iawa %12 "7 1OR 19U 1T AR PR
QW 190 279aR aRY 27 2°12 777 N 7T XD 'S %32 2012 'an 7 ON 287
T9UY A1 QIR IR PIADT TP NN AR DAR 2R IRIM T RWT
TREDR NI 0 PTIAR "2AR DWW IR PO JTINIAR PO AW 1T 2% A
W7 RN 'Y 2R IRZIN 157 TRIDW 102N AR PR IhaAR P Youvw
AT5TD2 YR KD NP R 2IRN ORIY 7''RDT 2 2R 2T avpb
MRZPA 1T PTOMART A0 MVNRT NON 2INZN ORZPH 1T PTOAN JANT
TV 2'RT ANDW RY QPR IR 2°12 7 PRUI IRawaY 'S v ok
RITAN INZOW MARTWD RPITT "W D07 pRwn Xoan aw v''wn eb
IO 17221 12 MIRa aphn® 23717 10K 1D 21N 110K a8 PaR "o 2N an
A1 PR INTY V"N DT MmN 77 Ak 2oy "2 NNT XWIP o '
B RBN T2 IR KD P0AR aRD KDY 370 2%12 77 nRI TR No
Q'R 23 12027 32D X7 '0INT WA 1IN Y125 KDY 112b e an
PR 2INDT NTTH ORI ARAT 212955 KON TP ROWR KD "0 179
N7 29027 NOTAT 71957 "D Pa 2R AR D IR PRRITR TIaN DN
2117 M2 B Y 29210 MR 12 PRAR WINYTR IPON 17 XD avy Nba

1) xn»a
a) YTIRT PPN 028D ORYH MR PWR

b) o»na Pwar oonnm PIRT ApnnI PR OR2% K 10 ' — meaning that the mbma of
TR 2 were N to o7°ar as explained below

2) ~"wnin wminn wies explains for jnar ' that

a) Assume that 12187 and Pynw were 02731 XXM 20k and 12187 had three *xan o012
vIRT and nynw had one YR Xan 12

b) If "ona nR 2w onna" means that the three o°pon of 12187 °12 were i to 1280
and the one p%n of Nwnw 12 was nn to ynw — the 77 accomplished nothing
because in the end 721%1 would be %°man the three o°p5n back to 721%7 12 and ynw
would be %°nan his one pon back to Pynw 32

c) So it must be that all four o>p%n are ann further back to Nwnpws 121877 37728 2P
from whom 3j2187 and 1ynw are each WAy two o°p%n as 2py °12 — 12IX7 s then o mn
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3)

4)

d)

his two °p%n to his three yax:7 °Xan 0°12 and 1w»w is 2°man his two a°pbn to his one
PIRT OR2A 12

Note that even where 12187 and 1wnw are o°nx they wouldn’t share their °p%n
equally unless there was the further 7911 to 37°2K% 2py° — because otherwise why
would 12187 be required to give one of his three o°p%n to Nwnw 12

Note also that if j2187 and wnaw aren’t 2°nx there is no reason for there to be a
further 7711 by 32387 to 3123%1 ax and by nw»w to Pynw a8 — since in the end 121%0
will be w1 three o°p51 from 721%1 28 and nvaw will be wA one pon from Pynw ax

M"w in wminn ws explains for Pwxe " that 12187 and nwnw as o2 xn *RxY each took
only one P and each was 7 man that P> to his YR *Xan o012

mooIn at P A"

a)

b)

d)

TP — Moown assumes in the following vy X7pw that there are two 12187 °12
instead of three

mow of {&"21} 0"20n for 1 '

1) there is a 21277 N that 12187 and Py as IR Who were 0°38n *RX7 are
mwa pn the total of three nma that are 2117 to them from the two 2187 12
and the one 1ynw 12 — there was no need for a further 79117 to 2py° to bring
about this even split

Xwp to "2

i) For the nvw of »"w we understand how the 7171 as understood by “wx> '
was different from the n%n as understood by n11° " — namely for jn11 ' there
was an even split only where 12187 and 1wnw were o°nx and there was a further
7I7n to 37°aR 2Py who was o187 "R¥1n as we’ve explained earlier

ii) But for o"2»1 who says that the even split was by way of a 21037 na°m it’s
q2non that for 1na1° ' there was an even split even where 12187 and ynw were
o»01 and not o°nX — and it turns out that also for 10110 " X YR was in
effect 7p>nn1 in even shares to o>7¥n "X

y1on of "2

i) To answer this x>wp it must be that — although the 1>1%n was based on a nam
210577 and not on 371 to 1°ax 2pye — still the 21057 o1 didn’t call for an even
split only where 32187 and Pynw were oo

mw of an 11020

i) In fact for 3n11° '3 once there was a 79117 to 0°%7 "XXY — even to 0°121 — the
2no77 nvra called for an even split among them

ii) The np1onn between “wx> 1 and jnav " resulted in different mp>%n only

(1) where o>xn *Kkx» were 0°%ov [2*wyn mind] or w1 in which case “wx> '
says — unlike 301 "1 — that y2&:7 °X2a got nothing even if they were 0wy "2
when 7Ix? X2
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(2) and where yaxr:1 °xa were o°99v or o°wi in which case jn1° ' — unlike "
YR — says yINT °X2 got nothing even if o°1gn "X o°aR were 00wy °12 at
0°¥7) NROY

5) Part 1 of the nv>w of *nam ¥ox " (0"Kk1) as explained by X"wann

6)

a)

b)

When >"wA says that for 11y ' there is a 791 by 12187 and pwynw to 17°ax 2py» and
as a result there was an even 171 between 121%1 and 1waw of the m?ma of 12181 °12
and Pynw 12

" refers only to where 32187 and Pynw were o wyn Mno at 0°7%n NR°Y> and 2py°
was 2°wy 12 at °1¥n nRYY — because if NwRwY 12187 were 2°7¥ IR 0wy 212
there was no need for a further 737117 to 37028 2pw

R"wAnn

a)

b)

d)

Xowp

1) If 32387 and nwnw were 2wy a1 oMo at o»xn nR°e why does *"wn say that
for “wx> "1 the Pynw °121 12187 12 would get two 0°pon1 — when we’ve
determined that they’d get nothing at all from 721%7 and 1w»w and instead
would have only one > by way of apy»

'aRls!

i) 77R3% contrary to o"xn it must be that >"w holds that the nyon1 were 10
further to oar *ax 2py° even though nynw 1287 were also o wy *12 —
because 2py° counted as the o°1xn Rx 9p>v for himself and 15777 *xxy

XOwp

i) Then why for “w&> "1 didn’t 7wnwy 12187 212 take two o°pon from Pynwy 12180
and a third P51 from 2py> — the same as we’ll see for 77978 N2 who took one
Pon from Tn9%% and a second P%n from 7m9%% "2 o1 because both were >xxy
akakival

XIpON
1) 2"R7is correct that

(1) When >"wA says that for 111 "1 there is a 771 by j2187 and pynw to apy
17°2R and as a result there was an even 1% between 121%7 and wnw of
the mbma of 12181 12 and Nwnw 12

(2) »"wn refers only to a case where 12187 and Pynw were > wyn Mo at nRoY>
o3 while 2py> was 0wy J2 at 2187 nRUY — because if wHwY 12180 were
D% NR°¥C2 Wy 012 there was no need for a further 7rm to 77928 2py°

i) But a"x" also holds that when >"w= says that for “wx> '3 the 12387 °12 and °12
1w took a total of only two o°pon — >"wA deals with where 12187 and nwaw
were 0wy °12 at 2°73n NR°YC and 377°aR 2Py wasn’t 207%R RE

7) Part 2 of the fww of 2"k~ as explained by R"w-in
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a) Based on the x°wp that mooin earlier asked to 0"2>7 it must be also for >"w~ that
there was an even split between 32187 and pynw only if they were o°nx and not if
they were o°121

8) X"wann
a) First x°wp to part 2 of the nvw of 2"x"

i) We earlier established for >"w that even where 121% and 1w»aw were oo
there was an even split only if there was a further 771 to 37228 2py° who was
0°7%n XXM because otherwise why would 12187 be required to give part of his
o°pon to NYnw 12

b) Second x*wp to part 2 of the nvw of 2"k
1) We established earlier that the &*wp of m»oin doesn’t apply to *"w at all

i) Because it’s only for 0"2°7 — who says it’s a 21n3;1 071 that forces the even
split between 321%1 and nw»w — that nvoIn asks that there is no difference
between the npyon of »wx> "1 and nav ' if the 21057 nma for 1nav ' applies
even if wawY 1287 are 0°123

iii) The x*wp doesn’t apply to >"w2 who says for 101 ' that there was an even
split only for o’nx whose nYon were ann further to °ax who was 0°%7 “kxn»

TNAXN "D TUNA NISOIN 2 77N IXW yAXRT X110

T2IRT2 9997 KD "D 'Y PRV Y PRy AR 1910 71D Bu N7 7 7''Na
B9 By Y2 MIWA PPRIT 1T POINT ORaD 7R an D''NRT 2R Pynen
PR KON 1997772 RDT 1190 ORTY A7 PIIN2 7910 TAID DU 77957 91 TINAT
7ARY 7°o0% YWD PPRUNR 2°12 TYRNa AR 2" awnes 11 RN 1IN aa
2912 2991 "V 2570120 2IWINNT 2TON1AR TIIRD 2w TRN D YUl
1977 RY FIPRRNI 298K INTYID O DaR 1912 TAID R 299710 DU "R Oxm
2NSR RIWOH IRIT ROR 212 TAI2 AR D "N 'R D P2 "0 R PRy

221971 299232 KPR 21 RD 10 1wy DaR 191 7A1 Duil 'RTT 2''awn
1) First nnipn

a) See the prior 112>7 on the nvw of 0"2"n

2) Second TP — 1w of o"awn

a) D071 R N2 IPPIR OR TR AT WY AT 12702 0212 17090 2287 IRXOW PRI 12K
MR PV N 7Y PRI NI MY 2R 2910 TA10 DU TR T YRS 2

b) mooin on the v w of 2"2°1 — 0"awA doesn’t deal with 12387 and w»w who are o°nx
because in that case the 17 for 301> '3 as well as for “wx> 1 is that "mwa pPpn"

3) R"wann
a) But note that if 121%7 and nvnw are oonx

61



i) for “wx> " the words "mwa 171" mean that 72187 °12 take a total of one pon
and 1ynw 12 also takes one pon

ii) But for 1n1v "1 the words "mwa Pp>n" mean that the 11 o°p%n of 121%1 %12 and
1A 12 are split 5-1/2 o°p5n to 1280 *12 and 5-1/2 oophn to wnw 12 [stop]

NI TIVI T"N2 NI90IN 'A p'7n 78w YAIXT N1AIO

RTY DO 12 RPIT PN YRR anaR mMun MawhT a'amh Py 7''Na
MIARDT 7192 FOWRY "9 5190 wpn KD o9 2K aNAN aMaR YRRt w7
B2 DWW MART B2 KPR 0T APRANI POINT OR2 DR 2vmRnn INW wnn
NP TNAWS 'Y APRANI POINT OR2D 7R ban mwa PRy bR
MRZH 7''1AD 157 2'RT MMRP PN 0NN R0 DR wnn 31aR? IRD 310aRy
ST N7 RO D27 $NMaKY Jntm g 2"y XOR phnnl avsn
PRI 'R POR PN 1T KD 1R aRDY 29790 ' 130 'R AR ON mwa phnab
PIN2 KON 12 PR K2 an1aRT 2'"'av» awe 1"y n' oo mwa nan o
B NIAR PR AT PART MWIZNAT PIYET R''29MDD 1077 WIDD RN KT

1)

2)

3)

4)

5)

6)

TP1Y7Y 98 A0 KD IR0 2N O12 N R
First 7a7pn
a) "0 omax s N
Second 7P
a) WX " says "Ap?nn1 0oEn RE1H KR PR
Third nnTpi
a) NI " says "Dvx¥n SRY1H DMAR JXR MR P ARP0NI YORT OR27 DR 7R
Third nnTpi
a) nvw of an A

i) for 11 "3 once there was a 7717 to o1%n XYM oPMar the mona were equally
divided among all o>7xn *X¥y — even among o°1¥» *xXx1° who were o°121 and
weren’t O nR

moon
a) xwp by o"a1to onwran

i) "MaR o°nRY PP 2PR 9227 RPIT DMK YRwn amaRk mun Mnwh 2" Xwp 1"
X"wann — K2 of the xowp of "2

a) 0"2M doesn’t mean to ask that "omar 7un nnws" refers only to ook —it’s a MY Ww»
that amax refers as to wan omar so that for “wx> ' there’s no X°wp — in fact yax
SR was aphnna to ov3nn WRw anak who were all mwa pon

b) But 0"2>1 asks this xwp for 301 ' as understood by an 11029
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i) It can’t be that for jn11° "3 the whole of S yax — undivided into o°p?n — was
a1 to HRwe 92 Sw omar for an equal 7p17n among them because then in effect
for 1n1v "1 the result would be the same as for "wx> ' — 0% "R HRIW” PR
irlsiaht

ii) Instead the meaning must be that the 7%m1 of each of the y-xn *xa was a1 first
to his individual ax so that for example one ax received nine o°p>r and another
ax received one pon and only afterwards all max — o°51 as well as o°nx — split
all of these o>p%n evenly for 75m37 to YR °X2

iii) it results that y=xn >xa were distributed ny%m also from o°121 who were neither
OMAR °IR Or wnn antak even though — based on a 702 from 5y max 1nn» RS
0°12 whose o°v15 aren’t relevant here— only amax *nx and w»»n amak count as
anmax

TR T

InI7 N1 TN NIDOoIN T P'7n IXW YAXT X1AIO

IR MIARD RPIT "D TR PR N'DD BURY 7RA [2 TR P 0T
B2 2IRM ORZY TR 217 wNED 27 0% N DR T 0D oy "o Tun
ROR 1R J7ONI2AKRD 2997ARD PR ORaY 71D A PRI RS NIaN
SR IRPD JIPORT INMD 927 MDD ROWT 2''YT KON STUR ININAW MR
ININL NIARD KON FTIPDII KD 2982 ORTPD 7''RD RNWTT 29D PR

297 DIy TS 29BYR BT WADY TIRIT oMY vaw

('~ 2'71n) T"'n%7 NIX X2 'd ' n IR yART XLo

7''ART 190 TP R D02 "1 MM RP ORAR PN IN2D 71D NON B2
T 5197 KDY 29RMR KX 2900 D''R TTOAN DIN 9N 77T Y1 PON ONab
72757 K97 TTNR ORAR 12 7R 70 9NRM 2R R 290 P KD maN
INAW 2WY S12 ININY MAR 2D WO aNIR ROR MWPD X7 %D anb wo
N2 @"Y Doy "0 WNX DR 2RI DU KD "D MAR 279 77197 KDY PORD
MRITIR NIAR W TR PIR ORAR DMWY J2 ORTIT PAYAR TINR 0 yRwn
AMRIT MAR P 197 KPR PR X2 'S 27 AR BENR INBR1 70 2N
N'DR DD RITTR 'OINT 2120 1ARD IARTD ARY NIDTR N7 DY 2NN
2T R "D 2Dy PIYd 'Y

1) First nnpn

a) Xomxat.mpaT

i) yoxnoxa from nov *12 were 7217 and g because they wanted a greater pon
b) xwp
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i) For "wx> "1 we understand that 701 *12 were iy because the yaxn np12n was
based on o°1xn °R¥Y when 7o °12 were 22wy

ii) But for 11 'y who says np%nn1 yIR °X2% why were they snmx

2) Second TP

a) We established for an 1122 that for 1n1y° " there was a 77mm of all monato >xxy
o>73n and all m»na were then divided equally among all o> >xxy and that the
mww of “wx> "1 and na ' result in different ma%7 only

i) where o™xn *R¥Y were 0°99v [owyn o] or owi in which case WX ' says —
unlike 301 ' — that ya&= °&2 got nothing even if they were o> wy *12 when X2
TR

ii) and where yx77 °X2 were o°99v or o°w1 in which case n11° " — unlike "wx> ' —
says v °Ra got nothing even if 0°7%n XYY O7°aR were 0wy *1a at R
akin i'4a)

3) mooin

4)

5)

a) Nwp to onran

i) Since for jn1 "1 in the end the mp17n were based on o°x» >xx and not °xa
YR — and there was an even split among o°1%» *x¥1 whether they were oonx
or 0°121 — why is it a X°wp that o1 °12 were "y

b) y1vn of mpoin

i) The n9n from yaxi °xa of each vaw was made to the o>xn *xxy of that vaw
and since yox7 °Xa from 701 vaw were 22217 it follows that the k) asks why
they were nx

R"wama at > v 7R3
a) Nwp

i) Why doesn’t an 11°27 explain that the nvw of 1011 " differs from the nvw of
“wx> " because for “wx> " all o1¥n *Rx» were equal but for 103 ' only person
within a vaw were equal

b) y1n

i) The xipon of the X na at :xop 77 is that also for »wx> "1 all of Hxw» yx was
7pona to mar n°a of each vaw separately

X" at 'R pon INRT IRN? KOX
a) xwp of H"nn

i) The & n3x should have said for jnav ' that 7o °12 were iy because if the 77m
from y2X X2 was to max who weren’t 2wy 12 at 0¥ NR°Y° those 7R "X2
presumably received no m5m:

b) 10 to the xwp of 2"nn
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i) an i established earlier for 11 ™ that — even if o mar of yax7 "X weren’t
WY J2 at 2287 NRYYY — PRI X2 Who were 0wy 213 at vaR® 0o still
received a 177m1 in their own right

INONnI [XOn 2T nivoIn "1 77N XYW yAxRT X210

11723 10 2RI NP WAITAY D YW 2'RT 779N 11D IRO%Y IR0 17" 72
190 M2TR2 11AIT IR IDIZNT KD 2921 YWD B'oy "o M27Ra 10 D
AN NI2TY2 292 PRI 11RITA D117 KON IR "2 912 P IR 1O KD
TR 1299577 TOYRDY "D 912% 190 2712 1D 1D 11RIT "'V YRRy 'o Nlan
3''57 7ODNYR AR MY 2ONDT TOUMY TP RDT MADT WIN 12 TORY

19 '1mY P90 27T TR 1909 RY

5oy JMWRT 7122 "D 912 137 RDT I 72 YR "1 "D C1an 2vnd 7''Na
A5

Nn7wa 2" TN 't P X YAXRT X1AIO

R'"'5 "D 19U KD Y IR T "D ORTPR PAR "2 17 aRT "D XRbwa 1''T7a
PAR '22 921 PR IR 7''0ART 23 DY AR 2''op "1 Uy IR 252 "2 s
PRRIT TTIARD PRI TVAWS 232 Y IR R AW 2%2 IR W »Y TINY
79D 2" VYRR 29 792 9T PPUYIAT 2%12 '2 10 RS Y ININD PRI MIwa
PAR 29 "1 AR 22 A"'7722 BN VYR 29 192 2900 RPANDT AR 30 NINT
7'"1A% RAPWAT 299951 '22 PP T NIRRT R e T 2 am e 1
TNIN 2912 "2 99 WY TR WINY 2012 ' 1% WO 'R WINR 1IT IR 2NN RN
MR2Y 7' DR BYRD 27 192 T PUYIAT 2°127 '2 1D RO WY RS
WADY WTINSIW AWH R 2R 2 2w 2R ' 1T Y0 AT oA T TON
RP VYMD 27 PaT D PRRKRT 2R "D PAR '2Y "2 PR 22 Xwnen
Bap® 2" RPIT 2N TINRT 7019 DIWD 23057 2NNk MUK MRWN
2T
1) First nnpn
a) "byn? 27 2o Phnn AT e Ky
2) Second nTpi

a) See pPmm a7 moown for the 7w w of 0"2°1 that 101 ' treats 79117 to o°nR
differently than 7117 to o°101 and that amax mwn mnws refers to amax who were
aRigh

3) :p A7 R based on the xo7x of mooIN
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a) vyn? 27 12 means that o°21 0°12 of one person didn’t take more in total than 2°12
vy of a second person

b) This is a mows for *wx> "y who holds that x> yax was 7p%nn1 to o°1%n *RxY» but
is a X°wp to 1011 " who holds that "X w> X was 7p?nn1 to 7R °Xa

4) mooin —xna of 0"

5) Consider the 191x of nwnw 12387 who are 0°1¥» *x¥Y 2°nk and have two sons in total
TR °X22 and 1121 7o who are also 0°¥n RxY o°nk but are 0°921 to wnHwn 120 and
have 10 sons in total yax >822

a) Now

i) “wx> " says each pair of o°nx takes two o°pon — S0 vyn? 27 12 applies in the
sense that the y2& °&22 0°21 in total didn’t get more than the o vyn

ii) But for 1n1v "1 the 117321 7o 12 are 71 a total of 10 o°p%n to 11121 A0 SO
that in the end »°121 701> *12 that are 221 are w0 these 10 o°p%n while 12
VAT 12X are 1 a total of two o°phn to Nynws 12387 so that in the end 12
1A 12387 who are o°uyn are war only these two o°pon

6) Xnowa "7 R"wonn
a) First xwp

i) vyn? 2772 applies to both “wx> "3 and 011 " in the 191 where 121%7 and nwaw
are o°nxX who were %7 °k¥1 and in AR °K3a there are eight 72187 °12 and two
1YY °12

i) For “wx> "

(1) 2% and nynw each has a pon and 32381 *12 take a total of one ponand °12
1vnw take a total of one Pom

(2) So vynh 21 12 applies
i) For jni "

(1) 3287 °32 and nwnw *1a are v a total of 10 o°pon to 32180 and Pynw who
split these o°p%n equally and in the end 32187 °12 are w1 a total of five
°pPon and Nvnaw 212 are wAr a total of five oophn

(2) So vyn? 21 paapplies
b) y1n

i) The x>wp of the X3 to 31 ' is that vyn? 27 2 deals &»noa in all cases —
including the first 198

7) wnn of X"wn
a) Second xwp to n"aM

i) Why didn’t 2"2> explain that the x*wp of the x7nx applies to where 12187 and
A0 are 0°¥7 PR¥Y 0°701 and in yaRT oKX there are ten 32187 °12 and two oY 12

i) For "wx> "
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(1) 32387 and nynw each takes one Pon and 12381 *12 are w1 a total of one Pon
and Nynw 712 are also w11 a total of one pon

(2) So vynH 21 2 applies
iii) But for jnar '

(1) 72 °32 are in the end wr a total of 10 o°p%n while fo1 °12 are in the end
v a total of two o°p°n

(2) So vynH 21 12 doesn’t apply
b) yn

i) The poo before vyn? 27 12 says anaxk mvn Mnw? and we’ve explained at 7"&2
awp T that for 1nav ' as understood by 0"2°1 the word omax implies that the
Max are Prx

ii) It follows that vyn? 27 12 applies only where yix are involved
N T

NYAT X'NNL T2 ‘N p'7n RO YAIRT XALo

MSDIN2 B oY RIPLMT 957 ROT MDOT IWNT XYL 7R [K TRy 9P 7]
QIDODT SWIT NI NINID TUIXY 12 D21 npLw ' 11905 RPN 1IN 2%Iw
;297 "1 D% RO

777 "2 p'7n) T"N% XX XA ' 7N XY YAIRT XRI0
(TP ama "y 'R

ART 12 TR {29 R ) KA 2w ans 7w [P 07 1 'R PR
QIINN ORIPD 79I POM TIAT J2 IR N2 TR 'R ARD 777 AR N1
12 R"O% 7797 KO 27 MR 77 'R PRI NaT WM IR 2mINT P
BaR 9oy 12 M2T 212 IOT 2NN IRIPN AR PR MR IR TR
AR MITRY 7''72 AP RITI2 '0WT WTHD 30 MWORT IO PAYRR TN
12 Y50 KD ORMR POINT OR2D 70D DVKRT WP A @'Y "0 3NN
YOI NIMNTT TIDDN TTUAN P97 DVIT MY R2OR N7 PTAN PR THOYN
DOWII T2 MNY VAR DY PO TADIR 5T YANY PR TADYN NN 12
POM PPOUNT PN OR2D 70 a1 'Sinn P KD ONRBRRY PRI umn v
INAW D7 9021 29PRI "2 2" PRV 1A 2% 7NN "YW Raw b
21N A D' RDT D92 KT RO INDY 2''Op 117 0" 51 DR 1NN v1an W
D212 MR 2V IPYT NI02Y MARPTS 1NN 20212 PO KON and AR pun

2Ty e
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1)

2)

3)

4)

5)

First 7a7pn

a) Review the mv>w of “w&> " and n1 " that were discussed earlier in this X°x10
Second 7P

a) mwn at :Top A7

i) 099X AW 157 202012 1RR OV PPN 0°I%A CRXN DAW OT°AR PO 1701 TIODY N2
D°pPon "aw Hvl a2

Third 7P
a) N

i) Since neither 791 nor 7Mo% was X *Xan it must be that the mawn follows the
mow of “wR> ' who says v aponnI 078n RS

FAhia
a) PN

i) Assume that 71552 had brothers who were 9911 *12 and whose sons (nephews of
7n97x) were yIX *xan and that 1on himself had brothers whose sons (cousins of
TMD7X) were YR "Xan

il) 77R3% — 103 "1 would say that although Tr9%% had no y=&:7 °Xan 012

(1) when the o°pn of the nephews of %% were nn to their fathers (the
brothers of 7n9%x) the o°p%n were split among all of the brothers including
mohx

(2) And also when the o°p%n of the cousins of 7n9%x (sons of the brothers of
1o1) were nn to their fathers (the brothers of 2or ) 2917 shared in these
P11 — and To%% M2 were in the end w1y the share of 71973 in the shares
of =om

b) xwp
i) Then why can’t the wn follow jn1° '3 and

(1) when the mawn says "1ax pon" — the mawn refers to the opbn that are ann
to 7n9%x and his brothers from the nephews of Tr9%% who were yax *xan

(2) and when the mawn says "1on °0012 »hx av p°m" — the mawn refers to the
0°p>n that returned to 2o and his brothers from the cousins of 7n9%% who
Were 79X "Xan

C) y™n

i) Must be that 111> "3 holds the m%rn1 weren’t 2nn to persons who had no o1
who were yI8:7 *Ran

R"wAn at 2 pon ’OR "7
a) X°wp to the &1 of 5"

i) Even if there is 7711 to £°7%» *X¥1 who have no sons yax *&22 we still
understand why the xan3x says the 71wn can’t follow jna '
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i) Because

(1) the mwn wouldn’t refer to a p%n that’s 2117 to 79%% from his nephews as
"0ax7 KX W AR phn”

(2) instead the mawn would have referred to this pon as v 0212 %0 because
the p%n would come to him through his brothers — the same as the mawn
refers to "1om *0212 vix av Poa"

6) nn7pPnto a Xwp by X"wann to the nwvw axy of 2"
a) X at:p a7
i) 37°N1AK AR NIDTY 1PAR NIDT2 1701 0°127 YIR2 PR 0% 1 RD 7P NTY
b) moowin at M1 A"7 oNn VP 7T
) Xwp

(1) How was it that np °12 were w1 from 37°naR °2X — their mother’s
brothers — the sons of j7°naR *ax should have taken that 7w

i) 1N

(1) ymink "2ax m>ora applies only to 37°mnR *2x who had no o212
i) xwp

(1) Then who from the yx *&2 was m7m1 271 to the 3Nk *ax of map 212
iv) y17°n

(1) oonx of 3 nak >ax had 012 and those o°12 were 21 their m>ma to o max
who split their m%na with their o°nx the 17°mnK *ax of np *12

7) R"wan
a) Nowp to "nn

i) This proves that maon holds that there was 3911 to max who had no °&an o712
TR

0 7

HAT XD A" TN " 770 7xw' yART X1AIo

N5 3792K YaR NIDT2 MRPT X7 12 107 R 772 0N [R T2 v 07|
SAPIRY 2A''7 PTAR AR NISTaT T PR oY "D 2wy hIa 3T maN i
9577 "D 312 2ITONIAR TR WA 2IRATR Y122 2OIRR INID 7' Ab mwvwna
27 RN RNRPIND TINPIN
1) First nnipn
i) “wx "M
(1) Pxaw° YR was aphnni to 00xn XX Who were 02wy *12 at ov3nn 1Ry
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2)

3)

4)

5)

6)

7)

i) p ™
(1) Pxws yox was p%nna to yaRa *Ra who were 0wy °12 at 7IR? 100D

Second 7P
a) o723 and o°anonn didn’t take a yaRa pon
'R Xn™2
a) PR 2R MOT2 1701 227NN 2121 093N 12
2 RN™MM2
a) JA¥Y NIDT 17V1 D°INDNR °12) 2093 C1
X3 — Xn*np Xk on why the mn»>12 aren’t N0 each other

a) Both mn»a2a deal with 0°%37% *12 and o°an%nn 12 who were 7aR? 100152 2wy °1a
but weren’t 0 %»n7 IR DMWY °12

b) 'R Xn»na
i) follows the nvw of “wx> "3 and since the o°1%n7 °121 2°%37% *12 weren’t 12
XY 0wy they couldn’t take a 123y mara pon

ii) and that’s why the Xn>12 says they could take a yax2 P only 37°ax *ax mo12
namely in the mo1 of 223 5w 17728 and 2017901 YW 1PaR

c) "axn»92 follows the mvw of jn1 ' and since the o°anxn» 121 0°%377 12 were 12
1007102 o>y it follows that they took a 12xy mora yaxa pon

mooIn — Xwp of "nxn oxY"

a) Say that both mn>1a follow the vw of “wx> 1 and deal with 012 °12 of the o°%3n
and ovanxnn —for short "n12 °12"

b) 'x xn»92 deals with where o7°ax of 012 °32 weren’t JX°¥°2 2> Wy °12 S0 that 012 "2
could take only 717°2x »ax n151a the 0217901 22930

c) 'axn»1adeals with where omrax of 012 °12 were 1nR°%°2 2wy 12 so that the 012 12
could take 37°2x no12 the 22111701 @°9377 °12 — the ®n°>1a refers to this as gy nor
in the sense that they didn’t take m>r2 of the o°37% and 211790 who were ax
TR

X" — ROWP
Why didn’t maown ask more simply that both mn»>9a follow “wx* '3 and
i) 'x xn»92 deals with the same case described earlier for 'k Xn» 2 in XanPR

xn>np — namely the xn»92 deals with 0°377 °12 and o°1n%n» °12 who were °12
TORY 100°102 02wy but weren’t 2°7%7 INXR¥°2 0wy *12 and for this reason

could take a yaxa p7r only 17°2x »ax n1ora namely in the mar of o°%3n Hw ax
and 211170 W 11°ak who were o°1xnn IR S 0wy °1a

i) While "2 xn>>72 deals with 012 12 of the o 1mxnm1 °%3n in the 9% described
for '2 Xn»92 in the X°wp of Anxn ox) — namely where o7°ax of 012 °12 were °12
XX 2wy so that the o2 °12 could take 172k mora the oa7nmY 22937 °32 —
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the xn»2 refers to this as 12y NMo7 in the sense that they didn’t take m>7a of
the o°%37n and 22111901 who were 37772 "ax

nni' nin "Y%nn "nxavw na"'1n

"33 700K N2 AIPITIW TV 1D MRT 21D INT 12 70 MR ''Ta
N2DT WK NP RN B'MwAR ans B'ay "2 2''KRT 0O YR ARMIIT
2977 39PR 25P1 YR Doy "1 YW DRI 90D N 2MMW Y70 Wwn as
TR YT KDY SN YR NRONTT NTARA RITI2 MARPT PO PODT R0
NN TR YT N YR NRTYT IRDT 120 wwnpna Dan anone wTw
2''YY NN A1 TR PO KD NI YW DRANT N1 wwpnT v'h 0N
ey 'Y MWD DR 27327 'OINT 1DRD RINDT TN

1) mnpn

a) 17 AWy I wwIipn? W K7 0D
2) XnUM2

a) C1apwn Nwnw

i) 1wn knew that the wwpn was n°na12°7 based on na nna “9%nn but nwn didn’t
know which 1in°n

3) xn™ain a7 at o a7
a) 1327 — 1n°n nRIna doesn’t have to mention the 0o ow
b) 77 " —anen NN does need to mention the fnon ow
4) xma
a) Nwpto anT ™

i) The nxan7 to the wwpn wasn’t a proper XN since it didn’t mention the aw
nn

b) y1n
1) nnenavw nRa that a axana was valid even without nnon aw
5) mooin
a) Nwp

i) | can accept that *»mpw: nwnaw agrees with 1129 for whom wn could have
made a 1in°n nXINT without non aw

ii) But
(1) for smi " who says 1xann needs to mention the 7n°» aw and in this case
the nxn7 was effective only by nyw nx™n

(2) presumably nwn didn’t know that there was a 7w nx7 and 7wn should
have thought that his nixani wasn’t valid and that the wwipn wasn’t 7n°»2
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6) S"wann
a) Nwp

1) Maybe 7wn did know that there was a 7yw nk"17 and as a result he knew that
his nxn7 was valid

7) R"wann
a) 117N to the x°wp of H"wan
1) Xn™M2in PaTm0 at ny a7
(1) For a7an
(a) nwn didn’t know that 773 was n°n2 127 at all

(b) It follows that even for 3127 it was a 7yw nx:7 that A7 was 702
despite there having been no 1in°n NXAN:I

(c) And it’s a mwws that nwn didn’t know about the 7vw nx 7 because if
he did know about the yw nx717 he would have known that 7732 is
anona

(2) For wwpn

(@) nwn knew and was 17nn that wwipn was nn°na so for 3121 there was no
YW DRI

(b) But for 777> "1 there was a 7vw nX1 because nwn wasn’t 77nn the ow
o

(c) it’s ynwn that for 7770 " on wwpn — the same as for 1327 on A7 —nwn
didn’t realize that there was a 7yw nx™173

07 1

T'0 'NI X2

W "D 7Y RPENDM KR ORR AP 'R 70 ORY "As [2 Ty vip 7]
9% RPENDM RP IR NPT TR 'R ORR RORY TRPRT NN20 DY PRI
VAN MITON M TSR PR DRI R V'R OOR INRTIT B''™MY Mo
en {RRYTT} M2 PRI PIUN N2 AR 751 N7 RPDNOR N7 PRIAWD
PRITT WITIT RO TIVRONR K97 5727 DaR MWD phi whh ja0 N
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1) First nnipn

a) T332 "R 071w °D 2011 M0 R
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3)

4)

5)

6)

7)

Second TP
a) mwn at :Top A7
i) AR 757 0212 IR P27 7L 1PN DT 02 DY
lah!
a) Nwp

i) "Prmnas MRN2 2w oD S 7192 PR" S0 how could Tno%x have a 77152 o in the
m>1 of 79 in SR> yax given that this mar presumably only counted as *1x"

b) 10 of SR R 77 20
i) 7n9%% had a 77102 Pom in Pououn (22238 NM7n°) in which Hom was prmn
c) Nwp

i) Ao in ywir says 958 nmia took a pon in "o°%an" of Yxraw yx including
the 77102 Pon of 7mohx in YR’ PR

d) y»nof man
i) DRI’ YR counts as npmmn
Xn>>12

a) 20 awn was ponon if %% mia could war the 77122 Phn that Tr9%% had in so21
pbis]

i)}
a) Nwp to 72
i) If you say that oxw° y2R is nprmin on what was panon qwn
R"wIN
a) Nwp

i)  Why does the & nx understand the oo of wn better for the nvw of 777 29
ORINY MR

71N

a) For HXmw anx 17717° 27 the poo of nwn was whether a na is nwa a 702 phn at all
—even in 7ouhun

b) But for 721 we have this xwp

i) The s in ywine 90 in effect teaches that the poo of wn was whether by
7wy from 973 the 77978 M2 had a 771252 Pon in o°an and that this poo was
resolved in favor of Tn9%% nmia — but if 5xw° IR Mypap count as npmmn - why
was ponon awn for mypap and not for ovhuhun
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